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Question Number : 1 Question Id : 54062617718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Buiya is a popular dance form that originated in which of the following states?
Options :

1. ¥ Arunachal Pradesh

2. % Assam

3. * West Bengal

4. % Mizoram

Question Number : 1 Question Id : 54062617718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Y1 U b0 T et & et iy Faffad A A feaTsudgg 2
Options :

1. ¢ 30T UG

2. % 3H

3. % Oigw &

4. % ToIRA

Question Number : 2 Question Id : 54062617719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

is a ritualistic and folk theatre form of dance in Goa based on mythological stories from the popular Indian epics, the Ramayana
and the Mahabharata.

Options :

1. # Jagar
2. * Jhora
3. % Ranmale

4. % Kumi

Question Number : 2 Question Id : 54062617719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. # SR
2. % R
3. ¢ UM
4. % I

Question Number : 3 Question Id : 54062617720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which among the following banks merged with Canara Bank in 2021?
Options :

1. ¥ Syndicate Bank

2. # Allahabad Bank

3. % Andhra Bank

4. % Corporation Bank

Question Number : 3 Question Id : 54062617720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fofafed 3 3 &F @ §F 2021 F HR1 96 § faerm g1 1=2
Options :

1. ¢ RifSoe d%

2. % ZARIEIG o

3. % 3figTdd

4. % PIORRA dF

Question Number : 4 Question Id : 54062617721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the sum of all goods and services produced at constant prices.

Options :

1. # Potential Gross Domestic Product
2. # Actual Gross Domestic Product
3. % Real Gross Domestic Product

4. % Nominal Gross Domestic Product

Question Number : 4 Question Id : 54062617721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % giRYd Ui sHfesd Mede
2. % U3 U SRS s
3. ¢ ROd U19 sfe® Uisae

4. % AT U9 SRS Uiede

Question Number : 5 Question Id : 54062617722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following statements is incorrect?
Options :

1. ® The Mesosphere is found above the stratosphere.

2. ¥ Stratosphere is the third layer of the atmosphere.

3. # Mesosphere is the coldest of the atmospheric layers.

4. ® The ozone layer is found in Stratosphere.

Question Number : 5 Question Id : 54062617722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FrafaRad & I &I 91 S Tad g2

Options :

1. % AYAUSH JAATIHISH & SR ™I A1 § |
2. ¢ FHAYHUSH a-gHUSH B! IR ORd g |

3. % JYAUSH qRIHUS A tRa! § 9oy 38T ] |
4. % 3fISlH IRA YHAIHUSH & UTS STl 5 |

Question Number : 6 Question Id : 54062617723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is also known as Achromatopsia.

Options :



1. ¥ Colour-blindness
2. # Chicken pox

3. % Mumps

4. # Leprosy

Question Number : 6 Question Id : 54062617723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B ThIHCIRRT & 719 I o S ST 81

Options :

1. ¥ qUITeT
2. % BT A1l
3. ® HUSHII
4. % HYIAT

Question Number : 7 Question Id : 54062617724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following pairs of desert and country is incorrect?
Options :

1. # Great Basin Desert - United States of America

2. % Great Victoria Desert - Argentina

3. % Mojave Desert - United States of America

4. ¥ Taklamakan Desert - China

Question Number : 7 Question Id : 54062617724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed ¥ § 7owd 3R S &1 ©IF I Sie! Tad 82
Options :

1. % Y IR TR - I ST SARBT



2. ¢ I [aeial 7 - 3l
3. % Tgdl ToRId- Yo ST SHRBT
4. % THAMHHT HIRIA- A

Question Number : 8 Question Id : 54062617725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The famous Hundru Falls is located in which of the following states?
Options :

1. % West Bengal

2. % Bihar

3. % Assam

4. ¥ Jharkhand

Question Number : 8 Question Id : 54062617725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifaa 7 3 frg a7 ultig g% Sauurd fRud 82
Options :

1. % Uigw &I

2. % fogR

3. ® 3A9H

4. ¥ IRTS

Question Number : 9 Question Id : 54062617726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following was the founder of the Karkota dynasty?
Options :

1. ¥ Durlabhvardhana

2. % Durlabahaka



3. #* Shankarvarman

4. % Avanativarmana

Question Number : 9 Question Id : 54062617726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e & 3 SH SToic AHsd BT RIS U1?
Options :

1. ¢ gaiyaea

2. % gAIY®D

3. % YipRaHd

4. % gl

Question Number : 10 Question Id : 54062617727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Dadabhai Naoroji started the newspaper Voice of India in
Options :

1. % 1897

2. % 1892

3. % 1887

4. 1883

Question Number : 10 Question Id : 54062617727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

GIGIHTS ARTST o H YRA $I AT THRRYS Y& (64T
Options :
1. % 1897
2. % 1892

3. % 1887



4.+ 1883

Question Number : 11 Question Id : 54062617728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following Governor Generals ended the policy of non-intervention?
Options :

1. # Lord Dalhousie

2. % Lord Curzon

3. % Lord Hastings

4. # Lord Bentinck

Question Number : 11 Question Id : 54062617728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiRed # 9 ford HERISTUTA A L&y i Hifd B JATd foham
Options :

1. % TS Sagel

2. % QIS HoH

3. ¢ dls g™

4. % qie dfe®

Question Number : 12 Question Id : 54062617729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following was the first Indian born to receive the Booker prize?
Options :

1. % Gobind Behari Lal

2. % Anita Desai

3. ¥ Salman Rushdie

4. % Amitava Ghosh



Question Number : 12 Question Id : 54062617729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e # A gepr REPR U B dTell Tl R b1 T2
Options :

1. ® Tifde fagRy o

2. % 3l TS

3. ¥ qAHH $=G

4, % QYA

Question Number : 13 Question Id : 54062617730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

No spin' is an autobiography of which of the following sports person?
Options :

1. ¥ Shane Warne

2. # Ricky Ponting

3. # Shahid Afridi

4. # Kapil Dev

Question Number : 13 Question Id : 54062617730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 o FafoRad & 9 fod Raamst & st &2
Options :

1. ¥ R dH

2. % Repl Uifen

3. % Migq Ll

4. % HUd



Question Number : 14 Question Id : 54062617731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following countries launched a Long March-4B rocket carrying the Haiyang-2D (HY-2D) satellite?
Options :

1. ¥ China

2. % Russia

3. % Malaysia

4. % United States of America

Question Number : 14 Question Id : 54062617731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 3 forg 2 3 891-2D (HY-2D) SUUE B & S aTel 11 ATH-4B Jdbe yafid fham
Options :

1. ¢ T

2. %Y

3. % HARE

4. % Yo Iy AR

Question Number : 15 Question Id : 54062617732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
has developed “AmbiTAG” which is India’s first indigenous temperature data logger developed for cold chain management in

2021.

Options :

1. # Indian Institute of Technology Kharagpur
2. ¥ Indian Institute of Technology Ropar

3. % Indian Institute of Technology Madras

4. # Indian Institute of Technology Delhi

Question Number : 15 Question Id : 54062617732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % YR R SR TSGR
2. ¢ YR W TRIF TS
3. % YR Urenfie! SR g
4. % YR Ui TR et

Question Number : 16 Question Id : 54062617733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following countries launched its most powerful supercomputer named Simorgh?
Options :

1. % United States of America

2. % United Arab Emirates

3. % Traq

4. ¥ Iran

Question Number : 16 Question Id : 54062617733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRad o 9 food <=1 = RyeRt A8 O 3o 9ay Yifadeied! HeriTure yaftd fean
Options :

1. % e Iy AR

2. % Y 3RS HRTT

3. # RAh

4. ]

Question Number : 17 Question Id : 54062617734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Who among the following was the first Law Minister of India?
Options :

1. * Rajendra Prasad

2. % Bhimrao Ramji Ambedkar

3. # Sardar Vallabhbhai Patel

4. % Jawaharlal Nehru

Question Number : 17 Question Id : 54062617734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad § § o9 YRd &1 ugen fafy 75 ur
Options :

1. % 3ol UG

2. ¢ WITRTG AHS SMASHI

3. % TRGR TEAYYTS Ucd

4, ® JATEAE J8%

Question Number : 18 Question Id : 54062617735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Article of the Indian Constitution deals with National Emergency.
Options :

1. % 356

2. % 348

3.9 352

4. % 360

Question Number : 18 Question Id : 54062617735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. # 356
2. % 348
3.9 352
4. % 360

Question Number : 19 Question Id : 54062617736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

was awarded the 2021 edition of the Players' Cap. This award is given to the player who gets the maximum votes by the New
Zealand players and support staff as their 'cricketer of the year'.

Options :

1. # Stephen Fleming
2. % Trent Boult
3. % Kyle Jamieson

4. % Lockie Ferguson

Question Number : 19 Question Id : 54062617736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % WIH FATHT
2. % ¢TI

3. ¢ HI3A SHIGA
4. % Qi) BT

Question Number : 20 Question Id : 54062617737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who among the following earned the nickname of "The Rawalpindi Express"?



Options :

1. ¥ Shoaib Akhtar

2. # Mohammad Hafeez
3. % Umar Gul

4. # Kamran Akmal

Question Number : 20 Question Id : 54062617737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferied # 3 forga RraafiS! Teaud” &1 Iu=H $feid foban
Options :

1. ¥ T 3R

2. % HIGHE g1

3. % SH T

4. % HIHII Db Hd]

General Ability
Group Number : 2
Group Id : 540626660
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

General Ability

Section Id : 540626842



Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5406261018
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 54062617738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the following Alpha Numeric series:

B10E, H88K, N238Q, ?
Options :

1. ¥ T460W

2. % T455V

3. % T506W

4. % T441W

Question Number : 21 Question Id : 54062617738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiRad saRiPI (et FHRD) YRGBl GRT DY:

B10E, H88K, N238Q, ?
Options :

1. ¥ T460W

2. % T455V

3. # T506W




4. = T441W

Question Number : 22 Question Id : 54062617739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the following Alpha Numeric series:

C23,E32, H41, L14, Q56, ?
Options :
1. * W64
2. ¥ W65
3. ® X65
4. % Y65

Question Number : 22 Question Id : 54062617739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafeiRad SaRiPI (et FHRD) Yael Dl GRT DY:

C23, E32, H41, L14, Q56, ?
Options :
1. * W64
2. ¥ W65
3. * X65
4. % Y65

Question Number : 23 Question Id : 54062617740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which one is odd in the following names:

Car, Motorcycle, Jeep, Truck
Options :



1. ¥ Motorcycle
2. % Car

3. % Jeep

4. # Truck

Question Number : 23 Question Id
Orientation : Vertical

: 54062617740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

it 9 § o ar faua 8

Options :
1. ¢ Hlex9gfod
2. % DR
3. % S
4.% TH

Question Number : 24 Question Id
Orientation : Vertical

: 54062617741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Which one is odd in the following names:

Shirt
Trouser
Jacket
Sweater

Options :

1. # Shirt
2. % Jacket
3. % Trouser

4. % Sweater

Question Number : 24 Question Id

: 54062617741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

faferRad A 7 o a1 i 8

HHS

gdcd
SEd

R
Options :
1. % HHS
2. % Jdhe
3. ¢ Udd]d
4. % WX

Question Number : 25 Question Id : 54062617742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the fourth term on the same basis as the second term is related to the first term.

Lion : Prowl :: 7 : Trot
Options :

1. * Dog

2. * Tiger

3. % Horse

4. * Goat

Question Number : 25 Question Id : 54062617742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :




1. % g
2. % §TY

3. ¢ 9ISl
4. % gD

Question Number : 26 Question Id : 54062617743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

BQDO : RGTE :: ANSV : ?
Options :

1. # ZDQV

2. % ZVQD

3. % ZQVD

4. ¥ 7ZQDV

Question Number : 26 Question Id : 54062617743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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BQDO : RGTE :: ANSV : ?
Options :

1. ¥ ZDQV

2.% ZVQD

3. % ZQVD

4. % 7QDV

Question Number : 27 Question Id : 54062617744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In a certain code 'PENTAGON” is written as '57552176', then how will 'UMBRELLA' be written in that code?
Options :

1. % 33429533

2. % 13429533

3. % 31342953

4. % 13249533

Question Number : 27 Question Id : 54062617744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS (YA BIS T 'PENTAGON' B '57552176' & U | forel TRT 5, A I 1€ H 'UMBRELLA' ®1 b feraT Siam?
Options :

1. # 33429533

2. % 13429533

3. % 31342953

4. ¥ 13249533

Question Number : 28 Question Id : 54062617745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code 'ENTER' is written as '62', then how will 'EXIT' be written in that code?
Options :

1. % 72

2.9 58

3. % 49

4, % 83

Question Number : 28 Question Id : 54062617745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U fAfYd S 7 'ENTER' &1 '62' & ®U H forar mar 8, @ I &is § 'EXIT &1 Y forar s

Options :



1. = 72
2.9 58
3. % 49
4. % 83

Question Number : 29 Question Id : 54062617746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Six persons are sitting in a row. They are G, H, I, J, K and L. I is not sitting beside J who is sitting on the extreme right. K is between G and I. G
is not sitting beside L and J. H is between L and J. Who is to the immediate right of G?

Options :
1.* H
2. %]
3.% L
4. ¥ K

Question Number : 29 Question Id : 54062617746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e AT TH A AISRI G, H, LI, KARLEIL IS T H 78] 961 g ol fh TRATMLBR WIS K, G AR I F AT HGI G, L 3R J
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Options :

1. * H

2. %]

3.% L

4. ¥ K

Question Number : 30 Question Id : 54062617747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A is the only child and son of C. F is the daughter of the child of G who is the husband of C. How is F is related to A?
Options :



1. # Daughter
2. # Father
3. % Mother
4. ¥ Son

Question Number : 30 Question Id : 54062617747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, C B ZHAM T AR GARIF, G HF TR HI G g Sl C HI U B I F, A W v TR Taifdd g2
Options :

1% f

2. % fuar

3. % Hidl

4. ¥ UF

Question Number : 31 Question Id : 54062617748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question four statements are given, followed by two conclusions, I and II. You have to consider the statement to be true even if it seems to
be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statement.

Statements: [. Some Papers are Pens.
II. Some Pens are calculators.

III. All calculators are bulbs.

IV. No bulb is torch.

Conclusion: I. Some bulbs are Papers.
II. No calculator is a torch.

Options :

1. % Only (I) follow

2. % Only (IT) follow

3. ® Either (I) or (IT) follow

4. ® Neither (I) nor (II) follow



Question Number : 31 Question Id : 54062617748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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11, 9} uRead Ied 3|
IV. ®T3 §ed < 151 5 |
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II. P13 URGAP <1 el g

Options :

1. % Had (I) SO0 BT §

2. ¥ HAd (11) IRV TR §

3. % Iy (1) 3T (1) 3FIERVT Bl §

4. % g (1) R A S (1) 3RV BT &

Question Number : 32 Question Id : 54062617749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question four statements are given, followed by four conclusions, I, I, III and I'V. You have to consider the statement to be true even if it
seems to be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given
statement.

Statements: I. Some men are girls.
I1. Some girls are foolish.

1. All foolish are mad.

I'V. Some mad are bad.

Conclusion: (I) Some girls are definitely mad.
(IT) Most of the mad are foolish.



(IIT) At least some girls are men.
(IV) All foolish except few are girls.

Options :

1. # None follow

2. % Only (I) follow
3. % Only (II) follow
4. ¥ All follows

Question Number : 32 Question Id : 54062617749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy § IR Sy e U B, s s1e IR sy 1, 11, 111 3R 1v feu T §1 3mues] 37 HUA &l I AT 8, YA 81 T8 ITHIIG: J1d a3
Ot Teiid BT | SMTUD! T9 BT ¢ b [T 7Y Fhuf B ¥ I 41, e DIs 8l al [a¥ T ST H F SR dxal g

HYT: . TS I3 Al g

1. 5% dsihdi TE &

111 9t 7 U g |

V. 3 INA R 3

f5pY: (1) $© defehal Afd U d ara § |
(I1) 3ATYHT U7 7 B B
(II) Y $H TS A Ha IV g |

(IV) T TSl DI BeHR T+ TH §
Options :

1. ® PIg IR0 Ta! Bl

2. % HAd (1) ATIROT AT &

3. % Had (1) 3RV HdT §

4.« Tt SRV HRd §

Question Number : 33 Question Id : 54062617750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the following number series.



?, 152,296, 584, 1160, 2312
Options :

1. % 78

2. % 82

3. ¥ 80

4. % 84

Question Number : 33 Question Id : 54062617750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafaa e gadr o R
7,152,296, 584, 1160, 2312

Options :

1. # 78

2. % 82

3.9 80

4. % 84

Question Number : 34 Question Id : 54062617751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the following number series.

4,12, 23,43, 90, 218, ?
Options :
1. % 321
2. % 425
3. ¥ 589
4. % 529

Question Number : 34 Question Id : 54062617751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
frafeiad e Yadr & R &
4,12, 23,43, 90, 218, ?

Options :

1. % 321

2. % 425

3. ¥ 589

4, % 529

Question Number : 35 Question Id : 54062617752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following diagrams best depicts the relationship between Cement, Sand and Building material?
Options :

1. ¢

OO0




Question Number : 35 Question Id : 54062617752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafered # O SI9 91 3w Wiie, Yd iR Yo Faio areht & o & oy &) 9a9 33T axidr 82

Options :

1. ¢

@Je




Question Number : 36 Question Id : 54062617753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many rectangles are there in the following figure?

Options :
1.¥9
2. %10
3.% 12
4. % 14

Question Number : 36 Question Id : 54062617753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafaa smefa & fras smaa g2

Options :
1.¥9
2. %10
3.% 12



4. % 14

Question Number : 37 Question Id : 54062617754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the figure series.

Options :




Question Number : 37 Question Id : 54062617754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3B ST BT T He|

Options :




Question Number : 38 Question Id : 54062617755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the figure series.

«—H H— ?

Options :




Question Number : 38 Question Id : 54062617755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3B ST BT T He|

«—H H— ?

Options :




Question Number : 39 Question Id : 54062617756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the water image of the object given in the question figure.

X

Options :
1. %

>'g<
2. ¥

>/g<
3. %

B%Q
4, ®

Question Number : 39 Question Id : 54062617756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Ty 3Mp T | gl Ts g% P! o S1d J1d B |

+
Options :
1. %

>‘$<
2. ¥

>/§<
3. %

Z%Q
4. %

Question Number : 40 Question Id : 54062617757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sheet of paper is folded and punch is made. When unfolded the paper sheet looks like the question figure. See the answer figures and select the



one that follows the manner in which the paper is folded and punch is made.

& 0
© O

Options :

Question Number : 40 Question Id : 54062617757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HITS B e B ST 7T 8 3R 501 fbar a1 31 gt g3 ot e &l Wia W I8 UY 3Phid &1 g 3wl 81 SR snpfaal ol 31
3R I TP BT TG B ol BT DI HISH 3R KT B P AP BT SIER0 BT & |
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Options :

Group Number :
Group Id :

Group Maximum Duration :
Group Minimum Duration :

Arithmetic Ability
3
540626661
0
0



Show Attended Group? : No

Edit Attended Group? : No
Break time : 0

Group Marks : 20
Is this Group for Examiner? : No

Arithmetic Ability

Section Id : 540626843
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5406261019
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 54062617758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three runners start their practice on a circular track. They take 36 seconds, 45 seconds and 54 seconds respectively to complete their respective
rounds. They start their practice at 6 AM. At what time, will they meet 5th time during their practice?

Options :

1. ® 6:09 AM
2. % 6:18 AM
3. % 6:30 AM
4. ¥ 6:45 AM

Question Number : 41 Question Id : 54062617758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
IF GIeT® TMATHR UY TR S7UAT 31T Y& & g | 9 3HTA-3T- TaHR IR 3 H HHR: 36 h S, 45 s 3R 54 s HI AT A ¢ |
3 6 Jafg a1 IR HRd &1 3T P SRM, 3 75T g7y W 54t aR e

Options :

1. % 6:00 Qaig
2. % 6:18 [dl&
3. % 6:30 IaTg
4. ¢ 6:457d1g

Question Number : 42 Question Id : 54062617759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the remainder when the largest 5-digit number which is divisible by 12 is divided by 16.

Options :
1. % 10
2.9 12
3.% 14
4. % 16

Question Number : 42 Question Id : 54062617759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

VB JTd B G 5 31T I Fo! GBI ol 12 F faUsa 7, 39 16 A fauifora fear smarg |
Options :

1. % 10

2.% 12

3. % 14

4. % 16

Question Number : 43 Question Id : 54062617760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



X bought a ton of pencils at Rs 2 each and 5 dozens of pens at Rs 5 each. Find his average expenditure on either a pen or a pencil.

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. Rs 1.5625

2. Rs 2.3438

3. Rs 4.6875

4. Rs 3.1250

Question Number : 43 Question Id : 54062617760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
X 7 Th 21 URIA 2 FUT UAP TR 3R 5 ol ad 5 FUT YD IR TRIC | Th had IT URId R BT 3d oI JTd D |

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. 1.5625 vUUq

2.2.3438 ¥UU¢

3.4.6875%UU¢

4.3.1250%Uq

Question Number : 44 Question Id : 54062617761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The numbers from 21-100 are taken into consideration. What percentage of the sum of the biggest 2 prime numbers is approximately the sum of
the smallest 2 prime numbers?

Options :
1. % 26%
2.9 28%



3. % 30%
4. % 32%

Question Number : 44 Question Id : 54062617761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

21-100 1 TSI Y T H QT AT ] | T TSI 2 3HTST T3 & TN &7 faT1 ufaerd Jad S 2 31U T3 BT A THIT TNT 82
Options :

1. # 26 percent

2. ¥ 28 percent

3. # 30 percent

4. % 32 percent

Question Number : 45 Question Id : 54062617762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y spends 45% of his income on food. 60% of the remaining income is spent on rent and 50% of the remaining income is spent on stationery and
the rest is saved. If the saved amount is Rs 550, then find the amount spent on rent?

Options :

1. ®* Rs 1,100
2. % Rs 1,280
3. ¥ Rs 1,650
4. % Rs 1,800

Question Number : 45 Question Id : 54062617762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y 37T 3T BT 45% HISH TR T BT & | AT 31T BT 60% AT TR 3R AW 311 BT 50% WIRI TR 07 foham Sra g 3R Y & i1l
21 afe s=ms TS MR 550 TUT R, o fob_IT R o 1 7S A J1d pY2

Options :

1. % 1,100 3UT

2. % 1280 30T




3. ¥ 1,650 ¥UU
4. % 1,800 %4l

Question Number : 46 Question Id : 54062617763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A profit of 25% on the selling price was made when a good was sold for Rs 800. Find the selling price if the good was sold for a loss of 5%.
Options :

1. * Rs 540

2. % Rs 555

3. ¥ Rs 570

4. % Rs 585

Question Number : 46 Question Id : 54062617763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gt{aﬁ?ﬂﬁﬁ 800 ¥UT T ST 7T Al I TIeha e TR 25% BT &Y G3T| AT GG D 5% D B1H UR o1 7T Il ot S b1 fachd Y J1d
|

Options :

1. % 540 >0
2. % 55500
3. ¥ 570 %00
4, % 585%U4U

Question Number : 47 Question Id : 54062617764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A stationery seller bought 60 pencils and sold them at a profit of 25%. How many pencils did he sell to cover his costs?
Options :

1. #® 40

2. % 42

3. % 45



4. 48

Question Number : 47 Question Id : 54062617764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP LRI fashdl 7 60 TRIT WRIET 3R 25% & ATH TR 34 99 | 30 AT &1 IR & & foIe 39 Tt ORiet st
Options :

1. ® 40

2. % 42

3. % 45

4,9 48

Question Number : 48 Question Id : 54062617765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two liquids, A and B are mixed in the ratio of 5:7 to give a mixture of 2400 ml. What quantity of A should be added to the mixture to reverse the
ratio?

Options :
1. ® 0.60
2. % 0.72
3. % 0.84
4.4 0.96

Question Number : 48 Question Id : 54062617765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2400 m] T %07 <1 & foTE &1 &a U, A 3TR B @I 5:7 & 3uTd H FHQTaT T § | 3II0Td &1 3ol &3 & fore s § A $t fova-t Amn
firart =nfew?

Options :

1. % 0.60

2. % 0.72

3. % 0.84




4.4 0.96

Question Number : 49 Question Id : 54062617766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X can run a jogging track of 2 kms in 8 minutes 20 seconds while Y can do it 12 minutes 30 seconds. Find the ratio of the speeds of X and Y.
Options :

1. #* 2:3

2.9 3:2

3. % 1:2

4. % 2:1

Question Number : 49 Question Id : 54062617766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X 2 kms & SR Y 8 FE 20 Yhs T G Ahd ¢ Said Y 39 12 fFe 30 T H W R IHdl g1 X 3R Y B A BT U 1T DR |
Options :

1. % 23

2.9 32

3. % 12

4. = 2:1

Question Number : 50 Question Id : 54062617767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The compound interest on a certain principal for 3 years at 20% is Rs 36,400. Find the simple interest on the same principal at double the rate of
interest and double the time period.

Options :

1. ¥ Rs 72,000
2. % Rs 60,000
3. % Rs 1,44,000
4. ¥ Rs 1,20,000



Question Number : 50 Question Id : 54062617767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Y aea IR 3 a6 & foIE 20% 1 &R W Ihdia SIS 36,400 ¥UT ¢ | I AT TR TS B GIAT &R 3R THY 3fafd & g R
YR SIS 3T bR |

Options :

1. % 72,000 ¥4UQ

2. % 60,000 %4

3. % 1,44,000 >4JUd

4.+ 1,20,000 ¥4

Question Number : 51 Question Id : 54062617768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the difference between the simple and compound interest per annum compounded annually at 30% for 2 years on a principal of Rs
5,000?

Options :

1. ¥ Rs 450
2. % Rs 650
3. % Rs 225
4. % Rs 325

Question Number : 51 Question Id : 54062617768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5,000 ¥UT & T TR 2 a4 & forg Ufea 30% STl & &R WR A1 Tehdig Bld AURUT 3R Tehgfg TSl & aid fahaT ek 87
Options :

1. ¥ 450 %00

2. % 650>Uq¢

3. % 225%UU0

4. % 325%UU



Question Number : 52 Question Id : 54062617769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A train running at a speed of 108 kmph crosses a pole in 5 seconds. Find the length of the train.
Options :

1. ¥ 150 m

2. % 162 m

3. % 175 m

4, % 180 m

Question Number : 52 Question Id : 54062617769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

108 kmph 1 7T T S IS IAMS! 5 Yhs H Th Td &) UR FHat ¢ | WeTIS! P dars J1d B
Options :

1. ¥ 150 m

2. % 162m

3.% 175m

4. % 180 m

Question Number : 53 Question Id : 54062617770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A public bus covers a distance of 45 kms in 30 mins. A private bus is 20% faster than a public bus. In how much time can a private bus cover 90
kms?

Options :

1. # 45 minutes
2. ¥ 50 minutes
3. % 54 minutes

4. % 60 minutes



Question Number : 53 Question Id : 54062617770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP Aol o9 30 I T 45 kms BT g3 d9 BT ¢ | Teb o0 o Ardol-1e o B gl & 20% oot § | T ol o fva 987 H 90
kms P S8 T B Jobell 82

Options :

1. % 45 ffFC
2. ¢ 50 fiAe
3. % 54 fC
4. % 60 e

Question Number : 54 Question Id : 54062617771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X alone can do a job in 10 days while working for 12 hours daily and Y can do it in 15 days working for 10 hours daily. In how many days can
they do the job alone if they work for 15 hours daily?

Options :
1. * 20/9
2. % 20/3
3.9 40/9
4. % 40/3

Question Number : 54 Question Id : 54062617771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X 3{b el BT DI UATE 12 69¢ BRI IXb 10 f&A1 7 B Ghal 3 3R Y UG 10 69 BRI b 15 faAl # = Gharl 51 3G 9 wfafe 15 6¢
BT B § dl d 3bel I B DI fobel faAl H R Gehd g2

Options :

1. % 20/9

2. % 20/3

3.9 40/9

4. % 40/3




Question Number : 55 Question Id : 54062617772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A and B can do a task in 30 days. If A alone can do 40% of the task in 20 days, then in how many can Y alone can do the remaining 60% of the
task?

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. 40

2.45

3.50

4.55

Question Number : 55 Question Id : 54062617772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A%B?Wﬁw%‘rﬁﬁwm%l i A 3BT 40% BT BT 20 TGN A BI THAT B, AN Y 3HBaT B BT AV 60% bl fobdq fe A
B Jhdl g2

Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :
1. 40
2.45
3.50
4.55

Question Number : 56 Question Id : 54062617773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Find the smaller diagonal of a rhombus if the bigger diagonal is twice the smaller diagonal and the area of the rhombus is 100 sq cm.
Options :

1. % 5cm

2. % 20cm

3. % 25cm

4.9 10 cm

Question Number : 56 Question Id : 54062617773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T THAGHS BT Bl faeuf T1d &% afe 51 i3l B faeuf T ST § 3R THaqys o7 85 d 100 sq cm &1
Options :

1. % 5cm

2. % 20 cm

3.% 25cm

4.9 10 cm

Question Number : 57 Question Id : 54062617774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many small cuboids of measurements 12 cm, 9 cm and 6 cm respectively can make up 1 big cuboid of 6 m, 4.5 m and 1.5 m?
Options :

1. % 50,000

2.9 62,500

3. % 75,000

4. % 87,500

Question Number : 57 Question Id : 54062617774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HH: 12 cm, 9 cm 3R 6 cm AT & fhdd BICTTH 6 m, 4.5 m 3R 1.5 m & 1 §S YATH BT S Ibd 82

Options :



1. # 50,000
2. ¥ 62,500
3. # 75,000
4. % 87,500

Question Number : 58 Question Id : 54062617775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The pie-chart shows the different particulars of producing a good. If promotion for 5 goods cost Rs 100, then how much is the profit on 1 good?

Production of a Good

Promotion,
0.05

Options :

1. ¥ Rs 140
2. % Rs 133
3. % Rs 120
4. ® Rs 102

Question Number : 58 Question Id : 54062617775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

UTs-T1C I BT IATGH B3 & (A [IaRuN &I <=1idl g1 IG5 IG3T & TR 1 AT 100 TAU §, <1 1 9 IR fava11 @ry g

T T AT

T, 0.06

Options :

1. ¥ 140 20U
2. % 133%0¢
3. % 120%UU
4. % 10220¢

Question Number : 59 Question Id : 54062617776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The histogram shows the number of students scoring marks in different ranges when the full marks was 100. What percentage of students failed
if the pass marks was 40%?



Mumber of students

0-10 10-20 20-30 30-40 40-30 0-60 &0-70 70-30 80-20  30-100

Marks

Options :
1. ¥ 33%
2. % 34%
3. % 35%
4. % 36%

Question Number : 59 Question Id : 54062617776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Srdf fafird SO & 3id UTed - aTcl ST &1 U1 B GRTdT § ofd gui 3fab 100 & | TS S0t 3 40% & At fove ufa=ra s=
3Hd IG?




BTl B wE

0-10  10-20 20-30 30-40 40-50 50-60 60-70 FO-B0 EO-30 90-100

3P

Options :

1. ¥ 33 percent
2. % 34 percent
3. # 35 percent
4. ® 36 percent

Question Number : 60 Question Id : 54062617777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The frequency polygon shows the risk-free interest rates offered by 2 countries in different years. If a company invests a total of Rs 1,50,000 in
both the countries in 2018 and received Rs 15,000 as interest for the year, then how much was invested in Country A?



Country A —=Country B

=
[T -
1 ]

=
L=
|

Interest Rate (in %)

=] ] £ =) L]
1

2015 2016 2017 2018 2015

Year

Options :

1. ¥ Rs 40,000
2. % Rs 45,000
3. ¥ Rs 50,000
4. % Rs 60,000

Question Number : 60 Question Id : 54062617777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T Ig Y fafia aui # 2 SR GRT U= &1 S a7l SIRGH-Had SATS &3) &1 GRITdT & | afg T Ut 2018 T a1 o= | $d 1,50,000
BT BT (I Bl & 3R TN & fIT 15,000 FUY TS &b =0 | U Bl 8, @l S A H fva=n FHaw far war ur



+SUWA -=—SUB

F 10 -
B .
L
Ll 3
0
2015 2016 2017 2018 2019
ad
Options :
1. % 40,000 >4UQ

2. % 45,000 %UU
3. % 50,000 ®¥UU
4. % 60,000 >UU
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Question Number : 61 Question Id : 54062617778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufoRad Uy |, IR fadweul 7 ¥, 39 fawed &1 994 &3 o1l foba1 o Y arer Il fawed gl

ISR ¥ 3{THR 98 WHT F |
Options :

1. % Hgd

2. % Y]

3. ¢ QAHIAIdH

4. % RUNH

Question Number : 61 Question Id : 54062617778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRuferiRad uy A, IR fAeeal 7 T, 39 faded &1 99+ B3 oY fobar & Wi aren It faswed 8l

STOIR ¥ 3{THR 98 JHT G|
Options :

1. * qgd

2. % YT




3. ¢ qAHIAIdH
4. % RUNH

Question Number : 62 Question Id : 54062617779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad uy A, IR foweal 7 9, 39 fawcu &1 997 & St 3/c9g & Ne &1 Jal fadeu 31|
qH ST Ug! 3= Ul g1 SIS |

Options :

1. ¢ gHAgEID
2. % HydIud
3. % fopafaRis
4. % ford

Question Number : 62 Question Id : 54062617779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufafad uy A, IR el § T, 39 faswey &1 T B St 3100 & U &1 Jal fddbed gl
qH &1 UGI 30T Bdd Bl SIS |

Options :

Question Number : 63 Question Id : 54062617780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad uy A, IR foweal 7 9, 39 faweu &1 97 &8 St HIgdIs I3 &1 Ja! faseey gl g1

Options :




1. % T3Q
2. ¢ BIR
3. % TR
4. % Y3

Question Number : 63 Question Id : 54062617780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol gy o, IR fawed! # 9, 39 [dded &1 997 &< ol HIgarad U311 &1 el [ddbed 7ol o
Options :

1. ®* J¥¥Yd

2. ¥ DR

3. % T[T

4. % YTy

Question Number : 64 Question Id : 54062617781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad Uy o, OR fowed! & 1, 39 fawed &1 999 &1 ol HIFH | [T T Ueg & AR JTH & U &1 Gl [ddbed |
() T AT §, (T8) el STl

Options :

1. % FSara®

2. % QOYAMI®
3. % JAYgdrEIDd
4. ¢ IYdrddh

Question Number : 64 Question Id : 54062617781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaiad vy H, IR fowedl 7 9, 39 fdded &1 997 & ol DIFH | QT U Xeq & SHR Fa-H & U & ! [dbed ol




(S T ST €, (@8) el el
Options :

1. % Sara®

2. % JIYAID

3. % JFAYgdrEIDH

4.« JEYdIDh

Question Number : 65 Question Id : 54062617782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy &, TR fowedl § 9, 39 fawey &1 999 &3 o Y Vs &1 Ta! [dbed 7
Options :

1. ® 3MTAIHR

2. ® AMATBR

3. ¢ SIISHR

4. % JfdeHR

Question Number : 65 Question Id : 54062617782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad us o, TR fawent § 9, 39 fawey &1 7o &3 S Y Ueg &1 Tl fAwea 71
Options :

1. % 3TAILh

2. % 3ARBR

3. ¢ JMIHR

4. % 3fIHR

Question Number : 66 Question Id : 54062617783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fofefead uy H, IR fawedl 7 9, 39 faweu &1 97 &% 5t 3T 7T e o MR Weg &1 fadey 181 B

aid -
Options :
1. % &R
2.9 0g
3. % fgof
4. % g

Question Number : 66 Question Id : 54062617783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad vy 8, IR ol 7 9, 39 ey &1 9a 3 o faT U Treg & FaMf 2o o1 fahed 781 81
aid -

Options :

1. # QR

2. 7Y

3. % g9

4. % g

Question Number : 67 Question Id : 54062617784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafafRd Uy 7, IR e & 3, 39 9wy 1 T B o fadiH e T a9 33T fdbed g |

Options :

1. ¢ 3
2. % foRmT
3. % 7

4. % IR




Question Number : 67 Question Id : 54062617784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy d, IR el 7 9, 39 fawca &1 987 &2 ot fAdiA Weg &1 a9 331 faheu 3|
S

Options :
1. ¢ 3{USl
2. % foRm
3. % 71d

4. % HIAX

Question Number : 68 Question Id : 54062617785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafad vy §, IR fawedl § T, 39 I8! faded o1 I B3 Sl il & ol U e o1 fadhed g

JUBHR o Ufdl fobar a1 SUBHR
Options :

1. % IdIht

2. % 3|

3. ¢ JJUDHR

4. % Ufgep

Question Number : 68 Question Id : 54062617785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafRad Uy |, IR [Adpeul 7 9, 39 I8! f[dmed &1 99 B3 Sl I1aiR o ol U Weg, &l [ddhed Bl |

IUBR & Ufd fHar a1 IuHR
Options :




1. ® I3
2. % A
3. ¥ TUDR
4, % Ufg®d

Question Number : 69 Question Id : 54062617786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafafad uy 7, IR e & T, 39 f9w ey &1 T B & feU 77T 919 & ol Ual & U o Jad 331 f[aheu 5|
379 TRH! Sl 81 o7 @1 8!

Options :

1. % NIRIIIdDH
2. % qAGdeH
3. % gUidEae

4. ¥ YIfaed®d

Question Number : 69 Question Id : 54062617786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR eeal 7 9, 39 fahcd o1 987 &% ot feU 7T 9/ & fol u&f & Ve &1 9ad 331 [y g |
39 TRH Sl 8 ST !

Options :

1. % NP
2. % gragedd
3. % gUidrEae

4. ¢ YIldeIase

Question Number : 70 Question Id : 54062617787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafafed Uy & aR fawed § 9, 39 fadmed &1 98 &1 off G a1 ST Jad 3w [ddhed 5|
Options :

1. % 9 Uddg & &I 947 WA E |

2. ¢ U U &7 B ga ifa B

3. % Y &7 & Udag 9d7 Wifd 7

4. % Y UG &F | I T BT A 5|

Question Number : 70 Question Id : 54062617787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRad vy 5, IR fawedl & 9, 39 fddhed &1 90 o Il Y a1 &1 oy 33T fddved 5|
Options :

1. % S YA & Pl Ga7 A S |

2. ¢ Y U &7 ® gaF Wifa 7

3. % 3 &7 &I Uda gad Wifd B

4. % TP UG &F H 9 T BT Wil 7

Question Number : 71 Question Id : 54062617788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefed uy §, IR fowedl 7 9, 39 faweu &1 997 &3 St Tg! a1a U &1 faweu gl
¥ 9gd o reT bR off 5 e TS|

Options :

1. ¢ Tgad qTrd

2. ® ¥ A

3. % fhg |

4, % 3HIJTAIdD dI]

Question Number : 71 Question Id : 54062617788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fofifad uy §, IR fiwedl 7 9, 39 fawcd &1 97 &% St 9gl are U &1 fdbeu gl
H 9gd av greT iR off 99 ge TS|

Options :

1. ¢ Igad a1

2. % XA A

3. % fhg a1

4, ® HIJ1AEAD dIH

Question Number : 72 Question Id : 54062617789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad Uy 4, aR fowed! & 4, 39 fdeed &1 99+ o< Sl fav1™ g god a1 &1 dal fadhed 3l
Options :

1. % AR ddl 9T I8 gH RTHIQ 817

2. % R ST - 91 I8 8 R B I3 87

3. ¢ AR S, "STl g8 gH R HR I8 812"

4. % YR} dicl, 9T, I8 gH T IR I8 817

Question Number : 72 Question Id : 54062617789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied ve o, IR fawedl O 9, 39 fadhed &1 997 o Sl fav g gad a1 &1 9gl fadbe 51|
Options :

1. % IR} a1 91 I8 gH T PR Q81?2

2. % UR dIell - 9l Jg JH T B g 812

3.« MUR] Sidl, "SI I8 gH T HI G 817"

4. % AR dIdl, 9T, I8 gH T R I8 817



Question Number : 73 Question Id : 54062617790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifad uy A, IR el 7 9, 39 faweu &1 97 &% &t feu U deifad o1 gt 3 arerr fapea g |

SId-HTd § gy s -

Options :

1. % ORI &1 I¥g P 70T To] o STl
2. % S DI oI8 Y o 7Y HRAT

3. ¢ [t o s § gl 1 q@a o
4, % Y A [GIR F 1

Question Number : 73 Question Id : 54062617790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR el 7 9, 39 fahcu &1 987 &3 & feu 71 Aeifad o1 gt 31 arer fapea g |
SId-HTd § G -

Options :

1. % U &1 a¥g & 10T 8] o9 SfTd
2. % TS Pl OIS I &l 7Y Al

3. ¢ 5t & Brf & o & g &
4. % Y 3T f[daR §9HT

Question Number : 74 Question Id : 54062617791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafiad we o, TR fowenl # 9, 39 fadhed &1 797 B S < 718 GgTdR &1 e 3 g [dhed g |
- &1 Fafsar g1y 3 Hean -

Options :
1. # YHId STl




2.« Y Ul 9¥q ¥ dfd I8
3. % glayr g ugAr
4. % HIYYHT Bl

Question Number : 74 Question Id : 54062617791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRed oy & o fawedl # 9, 39 fade &1 Tg9 &% ot &Y 718 YeTa &1 Ja! 3 arar fadwe ]
- &1 Fafsar g1y 3 Hear -

Options :

1. % YT ST

2.« 1Y YUl 9q ¥ dferd 78T
3. % gfaurd e

4. % DY YDHT HRAT

Question Number : 75 Question Id : 54062617792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed Uy & aR fawedl § 9, 39 fadhed &1 9a9 &3 ol &1 718 JeTaX &1 Ja! o ara fadwed g

Options :

1. ¢ QY G DI
2. % Tied I &9
3. % JMIId g

4. % @E A

Question Number : 75 Question Id : 54062617792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafofed oy & o fawed # 9, 39 fawe &1 Tg9 &3 ot &Y 718 YeTa &1 Ja! 3 arar fadwe ]




Options :

1. ¢ Y GDhR TghTI
2. % TS Y g1
3. % ARG gIFT

4. % e 9

Sub-Section Number : 2
Sub-Section Id : 5406261021
Question Shuffling Allowed : Yes

Question Id : 54062617793 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)

S TR &1 AMYGH U 3R IR fadhedl H ¥ UAd U &1 garad SR g |

Ig ardd § 3yd &1 fawa § o 89 3109 QIR0 Sl & e 3 arall & S g dl gd ], 9% argdT g4 el # 781 ged | Sl §ART
STferepTafl, Hidw &1 A3 1 A0 BT I Uil THART ISR D! 316 g1 e eV G-faRy, FHTS-fIRY quT Spid-fay &
TR forelt & AR fad o W 3R AUt IufRd FRd U I faxgd TR &1 U001 I &1 &1 81 18 8, o) 98 31uA sfia=
o TSR PT 3HT B b 3R I 307 &F-fIA9 & T1 8 areR ot Suahh &1 96 | 78 Hewyul wd U et § o fnsh fafkry
Wpfa F AR dad foret 3R R IR dTal ek gare U A Juifad R Yob, Ui U4 I8 § [ 59 HgH ITRalta & gy fed
el Y AL o Te-fordt Afgemsii o T Sferdl )R f= a1 g 3R I ot YRelig Wil & SrfuR Rt 9gd &9 8, S § 3%
g & O § 39 ddod o1 B &1 Faxr i g T S 9 g

Sub questions

Question Number : 76 Question Id : 54062617794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3¢ & IR §H Ht arvgar ot 3= Rrerss! & e gaa?
Options :

1. % 3fTHTNd DA BT A

2. ¢ YR Y AR H UTS ST dret I

3. % gHY & U Bt ARGl



4. % U &I g

Question Number : 77 Question Id : 54062617795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fRre area & o1 g2

Options :

1. % Ryt Wl o A Rid = &1 are
2. % HpTad YR BT JH HIA BT Q1e

3. ¢ Ta%qd IR &1 A SR 91l J1eA
4. % FHTS B fdhRd B BT 1=

Question Number : 78 Question Id : 54062617796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YR & fRiféra nfgensit a9 T fasat 32
Options :

1. % el W T 9 571 g It

2. ¢ Sl WR e forait

3. % Q&Y 4 el

4. % ggd el

Question Number : 79 Question Id : 54062617797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g0 A DI - T JTHO BT I g 22
Options :

1. % qraHd

2. ¢ STHSY

3. % guifd

4. % THXET




Question Number : 80 Question Id : 54062617798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Y TG Bl Dlg IUGad Loe-
Options :

1. % OHR® fabr

2. ¢ fR1& 1 UHTG

3. % faqoTid TS

4. ® Ugd & ool

Question Id : 54062617793 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)

Y TR &1 AU U MR IR fawedi & ¥ e Uy &1 garad IR g |

Ig arda H 3n1yd &1 fawa § o 89 3109 Qe Sl & e e arall & S agdl ¢ad ], 9% argdt 9 el # 78 ged | S gAY
STferepTafl, Hids &1 A3 o1 A0 T I7eb Ticl GHRY I D1 318§ g1 TfeV| G-faIy, FHS-fIRY quT §&pid-fagy &
TR forelt & AR fawr & Wy 3R Ayt IufRyd Hd §U I faxgd TR &1 U1 I19 &1 &1 81 e 3, o 98 39 sfia=
o TSR BT STHT B Tob 3R I 30 &F-fAT & 1Y g 1eR Hft STt a1 96 | I8 Hewayul wrf T et § o fasdt fafkry
TPTd W TN <=ret Foret 3R RISt == ared safery Feme U & HUTfad R Hob, Ui U% U8 © b 38 HETH JTRaId & Uy ik
P8l § Y S Ue-fordt Afgemait &t TRe Srferdt iR 9= avg g 3R 39 off YR Tepfa & SR Riférart sgd #H 8, S § 3%
Sfig & O § 39 ool o1 B &1 Hawr +f FAfig T S 9 g

Sub questions

Question Number : 76 Question Id : 54062617794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS & ATUR g9 HT araar ot o et # 78 gad?
Options :

1. % 3fTHTNd DA DI A

2. ¢ YR Y AR H UTS ST dret I

3. % YUY & GguA St gl

4. % UgH &I Tl




Question Number : 77 Question Id : 54062617795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fRr&f areta & &1 82

Options :

1. % R4t Wi & [AwRid @A &1 aqreH
2. ¥ TPpTad AR BT 4 B BT A1

3. ¢ Ta%qd IR &1 A SR a1l q1eA
4. % AN B! f9pRId H &1 18

Question Number : 78 Question Id : 54062617796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YR # Riféra afganstt a5 gem frai 82
Options :

1. % el W T 9 571 g It

2. ¢ STl W A forait

3. % Q&Y 9 el

4. % §gd el

Question Number : 79 Question Id : 54062617797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
S0 I BIF - T ITHO HT I Ueg 82
Options :

1. % drerd

2. ¢ ATHSH

3. % guifd

4. % Updl

Question Number : 80 Question Id : 54062617798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

T 3fwC BT Hls JUgad Hd-
Options :
1. % AFRYSP faer
2. ¢ fR1&f 1 UHTa
3. % faqoid TS
4. % UG+ @ dall
General English
Group Number : 5
Group Id : 540626663
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General English
Section Id : 540626845
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1



Sub-Section Id : 5406261022
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 54062617799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

She said that, "she/ was visiting Paris/ the following weekend."
Options :

1. ¥ She said that, "she

2. ® was visiting Paris

3. % the following weekend."

4. ¥ No Error

Question Number : 81 Question Id : 54062617799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

She said that, "she/ was visiting Paris/ the following weekend."
Options :

1. ¥ She said that, "she

2. % was visiting Paris

3. # the following weekend."

4. % No Error

Question Number : 82 Question Id : 54062617800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.



Instead of making adjustments/ depending on who we play, we're/ going to master our system.
Options :

1. # Instead of making adjustments

2. ¥ depending on who we play, we're

3. % going to master our system.

4. % No Error

Question Number : 82 Question Id : 54062617800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Instead of making adjustments/ depending on who we play, we're/ going to master our system.
Options :

1. # Instead of making adjustments

2. ¥ depending on who we play, we're

3. % going to master our system.

4. ® No Error

Question Number : 83 Question Id : 54062617801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

What bothered me was not so much (what he said yet how he said it).
Options :

1. #® so what he said but in fact how he said it

2. % what he said though how he said it

3. ¥ what he said as how he said it

4. ® No correction required



Question Number : 83 Question Id : 54062617801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

What bothered me was not so much (what he said yet how he said it).
Options :

1. # so what he said but in fact how he said it

2. % what he said though how he said it

3. % what he said as how he said it

4. # No correction required

Question Number : 84 Question Id : 54062617802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Meg (met Sarah before you introduced her to) us in the office.
Options :

1. # had met Sarah before you had introduced her to

2. ®# met Sarah before you introduced her with

3. % had met Sarah before you introduced her to

4. #¥ No correction required

Question Number : 84 Question Id : 54062617802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Meg (met Sarah before you introduced her to) us in the office.



Options :

1. # had met Sarah before you had introduced her to
2. # met Sarah before you introduced her with

3. % had met Sarah before you introduced her to

4. # No correction required

Question Number : 85 Question Id : 54062617803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

His political history and Arizonan heritage should lead him to embrace a return to the principle and practice of subsidiary
federalism.

Options :
1. ¥ maverick
2. % limerick
3. # strict
4. % trick

Question Number : 85 Question Id : 54062617803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

His political history and Arizonan heritage should lead him to embrace a return to the principle and practice of subsidiary
federalism.

Options :
1. ¥ maverick
2. # limerick
3. % strict
4. # trick

Question Number : 86 Question Id : 54062617804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

After the coup, he ran a newspaper stand, which functioned as a letter drop for the Communist Party.

Options :

1. # celestine
2. % destine

3. # adamantine
4. ¢ clandestine

Question Number : 86 Question Id : 54062617804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

After the coup, he ran a newspaper stand, which functioned as a letter drop for the Communist Party.

Options :

1. # celestine
2. # destine

3. % adamantine
4. ¥ clandestine

Question Number : 87 Question Id : 54062617805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

While still in high school, Bezos developed the Dream Institute, a centre that promoted creative thinking in young students.

P. After graduating (1986) summa cum laude from Princeton University with degrees in electrical engineering and computer science, he
undertook a series of jobs before joining the New York investment bank D.E. Shaw & Co. in 1990.

Q. In 1994 he quit D.E. Shaw and moved to Seattle, Washington, to open a virtual bookstore.



R. Soon named senior vice president—the firm’s youngest—Bezos was in charge of examining the investment possibilities of the Internet.
S. Its enormous potential—Web usage was growing by more than 2,000 percent a year—sparked his entrepreneurial imagination.

Working out of his garage with a handful of employees, Bezos began developing the software for the site. Named after the South American river,
Amazon sold its first book in July 1995.

Options :

1. ¥ PRSQ
2. % QPRS
3. ¥ PSRQ
4. % RPQS

Question Number : 87 Question Id : 54062617805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

While still in high school, Bezos developed the Dream Institute, a centre that promoted creative thinking in young students.

P. After graduating (1986) summa cum laude from Princeton University with degrees in electrical engineering and computer science, he
undertook a series of jobs before joining the New York investment bank D.E. Shaw & Co. in 1990.

Q. In 1994 he quit D.E. Shaw and moved to Seattle, Washington, to open a virtual bookstore.
R. Soon named senior vice president—the firm’s youngest—Bezos was in charge of examining the investment possibilities of the Internet.
S. Its enormous potential—Web usage was growing by more than 2,000 percent a year—sparked his entrepreneurial imagination.

Working out of his garage with a handful of employees, Bezos began developing the software for the site. Named after the South American river,
Amazon sold its first book in July 1995.

Options :

1. ¥ PRSQ
2. % QPRS
3. ¥ PSRQ



4. % RPQS

Question Number : 88 Question Id : 54062617806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below

Tumultuous
Options :

1. ¥ Moderate
2. % Restrained
3. # Mellow
4. ¥ Disorderly

Question Number : 88 Question Id : 54062617806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below

Tumultuous
Options :

1. # Moderate
2. # Restrained
3. ¥ Mellow
4. ¥ Disorderly

Question Number : 89 Question Id : 54062617807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Wane
Options :



1. * Diminish
2. ¥ Intensify
3. # Contract

4. % Evanesce

Question Number : 89 Question Id : 54062617807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Wane
Options :

1. # Diminish
2. ¥ Intensify
3. # Contract

4. % Evanesce

Question Number : 90 Question Id : 54062617808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. % consummete

2. % conssummate

3. #® consumate

4. % consummate

Question Number : 90 Question Id : 54062617808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :



1. # consummete
2. #* conssummate
3. # consumate

4. % consummate

Question Number : 91 Question Id : 54062617809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # litagious

2. ¥ litigious

3. % litogious

4. # littigious

Question Number : 91 Question Id : 54062617809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. % litagious

2. ¥ litigious

3. % litogious

4. % littigious

Question Number : 92 Question Id : 54062617810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Turn a blind eye
Options :



1. # Tricking someone as a joke.
2. # To stop something. To bring something to an end.
3. # To shut-up or be quiet.

4. ¥ Refuse to acknowledge something you know is real or legit.

Question Number : 92 Question Id : 54062617810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Turn a blind eye

Options :

1. # Tricking someone as a joke.

2. # To stop something. To bring something to an end.
3. # To shut-up or be quiet.

4. ¥ Refuse to acknowledge something you know is real or legit.

Question Number : 93 Question Id : 54062617811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Till the cows come home

Options :

1. ¥ A long time.

2. % An offer or deal that is declined right now but willing to accept later.
3. % Destroy or ruin a plan.

4. ® To tell noisy person or a group to be quiet.

Question Number : 93 Question Id : 54062617811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom



Till the cows come home

Options :

1. ¥ A long time.

2. # An offer or deal that is declined right now but willing to accept later.
3. # Destroy or ruin a plan.

4. # To tell noisy person or a group to be quiet.

Question Number : 94 Question Id : 54062617812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

Difference between two opposite things; a division into two opposite groups
Options :

1. # Anatomy

2. # Lobotomy

3. % Dichotomy

4. ¥ Mastectomy

Question Number : 94 Question Id : 54062617812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

Difference between two opposite things; a division into two opposite groups
Options :

1. # Anatomy

2. # Lobotomy

3. ¥ Dichotomy

4. % Mastectomy

Question Number : 95 Question Id : 54062617813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

Delay doing something until a later time because one does not want to do it,
because one is lazy

Options :

1. # Resuscitate
2. # Inundate
3. # Infallible

4. % Procrastinate

Question Number : 95 Question Id : 54062617813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

Delay doing something until a later time because one does not want to do it,
because one is lazy

Options :

1. # Resuscitate
2. % Inundate
3. # Infallible

4. % Procrastinate

Sub-Section Number : 2
Sub-Section Id : 5406261023
Question Shuffling Allowed : Yes

Question Id : 54062617814 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)
Read the passage carefully and choose the best answer to each question out of the four alternatives

Call it a blessing or a curse of Mother Nature, we have to breathe in over 10,000 litres of air in a day (more than four million litres in a year) to



remain alive. By making it essential for life, God has wished that we try to keep the air we breathe clean. Everyone can see the food that is not
clean and perhaps refrain from eating it, but one cannot stop breathing even if one can feel the air to be polluted.

Several harmful and noxious substances can contaminate the air we breathe. Generally, much is said and written about outdoor air pollution, most
of which is due to vehicular and industrial exhausts.

Given the fact that most of us spend over 90% of our time indoors, it is most important to recognise that the air we breathe in at home or in
offices can be polluted. It can be a cause of ill-health. Air pollutants that are generally present in very low concentrations can assume significance
in closed ill-ventilated places.

The indoor air pollution can lead to allergic reactions and cause irritation to the skin, the eyes and the nose. But as is logical to assume, the brunt
of insult by pollutants is borne by the lungs. It can lead to the development of fresh breathing problems, especially in those who have allergic
tendencies, or it can worsen the existing respiratory illnesses like asthma and bronchitis.

Sub questions

Question Number : 96 Question Id : 54062617815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following option is incorrect? Choose one option.
Options :

1. # We breathe over 10,000 litres of air everyday.

2. # Tt is essential to keep the air clean.

3. # Indoor air pollution can lead to allergic reactions and cause irritation to the skin, the eyes and the nose but the worst affected organ is the
lung.

4. ¥ Over 90% of outside air pollution is caused by vehicular and industrial exhausts.

Question Number : 97 Question Id : 54062617816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a lung condition?
Options :

1. % Psoriasis

2. % Arrhythmia

3. # Unstable angina

4. ¥ Bronchitis



Question Number : 98 Question Id : 54062617817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is the worst affected organ of the human body due to indoor air pollution?
Options :

1. ¥ Lungs

2. # Eyes

3. # Skin

4. % Nose

Question Number : 99 Question Id : 54062617818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, what causes the most amount of outdoor air pollution?
Options :

1. # Dust and pollen

2. # Volcanoes and wildfires

3. % Mold spores

4. # Vehicular and industrial exhausts

Question Number : 100 Question Id : 54062617819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many litres of air does an average human breathes every year?
Options :

1. ¥ 4 million

2. % 5 million

3. % 6 million

4. % 3 million

Question Id : 54062617814 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No



Question Numbers : (96 to 100)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives

Call it a blessing or a curse of Mother Nature, we have to breathe in over 10,000 litres of air in a day (more than four million litres in a year) to
remain alive. By making it essential for life, God has wished that we try to keep the air we breathe clean. Everyone can see the food that is not
clean and perhaps refrain from eating it, but one cannot stop breathing even if one can feel the air to be polluted.

Several harmful and noxious substances can contaminate the air we breathe. Generally, much is said and written about outdoor air pollution, most
of which is due to vehicular and industrial exhausts.

Given the fact that most of us spend over 90% of our time indoors, it is most important to recognise that the air we breathe in at home or in
offices can be polluted. It can be a cause of ill-health. Air pollutants that are generally present in very low concentrations can assume significance
in closed ill-ventilated places.

The indoor air pollution can lead to allergic reactions and cause irritation to the skin, the eyes and the nose. But as is logical to assume, the brunt
of insult by pollutants is borne by the lungs. It can lead to the development of fresh breathing problems, especially in those who have allergic
tendencies, or it can worsen the existing respiratory illnesses like asthma and bronchitis.

Sub questions

Question Number : 96 Question Id : 54062617815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following option is incorrect? Choose one option.
Options :

1. # We breathe over 10,000 litres of air everyday.

2. % Tt is essential to keep the air clean.

3. * Indoor air pollution can lead to allergic reactions and cause irritation to the skin, the eyes and the nose but the worst affected organ is the
lung.

4. ¥ Over 90% of outside air pollution is caused by vehicular and industrial exhausts.

Question Number : 97 Question Id : 54062617816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a lung condition?
Options :



1. # Psoriasis

2. # Arrhythmia

3. % Unstable angina
4. ¥ Bronchitis

Question Number : 98 Question Id : 54062617817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is the worst affected organ of the human body due to indoor air pollution?
Options :

1. ¥ Lungs

2. # Eyes

3. # Skin

4. % Nose

Question Number : 99 Question Id : 54062617818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, what causes the most amount of outdoor air pollution?
Options :

1. # Dust and pollen

2. # Volcanoes and wildfires

3. % Mold spores

4. # Vehicular and industrial exhausts

Question Number : 100 Question Id : 54062617819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many litres of air does an average human breathes every year?
Options :

1. ¥ 4 million

2. % 5 million

3. #® 6 million



4. % 3 million
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Question Number : 101 Question Id : 54062617820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Paracetamol, some cold and flu remedies, and vitamin supplements come under which category of drugs?



Options :

1. % Prescription Only Medicines
2. # Controlled Drugs

3. % General Sales List (GSL)

4. # Pharmacy Medicines

Question Number : 101 Question Id : 54062617820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR, T8 If 3R T P IUER, 3R et &t Wi fa Joft o shwfdal & siaefa ot 82
Options :

1. % Had Ud W fHre arelt ofiwfy

2. % A ofiwfy

3.« I fosh! gt

4. % 3fmyfmfor Shufy

Question Number : 102 Question Id : 54062617821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Psycho-active drugs do not include which one of these?
Options :

1. % Alcohol

2. % Nicotine

3. # Cannabis

4. ¥ Amoxycillin

Question Number : 102 Question Id : 54062617821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HAHTE SAER A 377 § b1 e e 67

Options :



1. % 3chigid
2. % 1A

3. % PHAfag

4. ¢ SRR

Question Number : 103 Question Id : 54062617822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Autoimmune hemolytic anaemia are caused by antibodies directed against the patient’s own
Options :

1. ¥ RBCs

2. % WBCs

3. % Platelets

4. % Macrophages

Question Number : 103 Question Id : 54062617822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TufoR e SRR YadTeud (ifelsrgd gHidifeed srtan A7ft & oa ¥ faams FERE ufafts & FRUBATR|
Options :

1. ¥ RBCs

2. % WBCs

3. % foray

4. % Toplhol

Question Number : 104 Question Id : 54062617823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of these means “arrest of bleeding”?
Options :

1. # Haemolysis



2. % Haemostasis
3. ¥ Haemophilia

4. ¥ Haemoconia

Question Number : 104 Question Id : 54062617823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
379 9 foraet o § Raaara Ay
Options :

1. % gHIfIRY

2. ¢ AT (FHRCRIN)

3. % gHIGICA

4. % GHIBI-T

Question Number : 105 Question Id : 54062617824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

All the following tests are done before blood donation except
Options :

1. # ABO group typing

2. ® Screening for current or past infections

3. % Rh typing

4. % CBC count

Question Number : 105 Question Id : 54062617824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

[FACHATUGA Bl Sred Hararad g oiemr fey ord €|
Options :

1. % ABO YHg TISfU

2. % gaAM g1 U YshHul & forg S




3. % Rh eSO

4.« CBC Ul

Question Number : 106 Question Id : 54062617825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The blood clotting proteins found in cryo include all of these other than
Options :

1. # Fibrinogen

2. % Factor VIII

3. % Dystrophin

4. ®* Von Willebrand factor

Question Number : 106 Question Id : 54062617825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST H UTT S 9T 390 & UYgh PRI U A & 3fefrar o it enfirer &1
Options :

1. % BIgfeHeH

2. % DRI VII

3. ¢ f&xIftd

4. % 9 facisis HRB

Question Number : 107 Question Id : 54062617826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the volume of red blood cells in your body.
Options :
1. ¥ Hematocrit
2. % Haemophilia
3. ¥ Haemoglobin



4. ¥ Lymphoma

Question Number : 107 Question Id : 54062617826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
30 IRR T AT G HIRIBIS BT AT 5
Options :
1. ¢ GHICIhT
2. % giHIBIer
3. % QAT
4. % femrn

Question Number : 108 Question Id : 54062617827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

After completion of their life span the RBC’s are removed by the macrophages of
Options :

1. # kidney

2. # intestine

3. % liver and spleen(extravascular).

4. % bile duct

Question Number : 108 Question Id : 54062617827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U i1 BTd & QT B & d1G RBC’s I & JEHEIBIY] (Heh T GRT 8T feaT Sar g |

Options :

1. % g

2. % 3fid

3. ¢ g% 3R fact @fgaigsn) |
4. % R



Question Number : 109 Question Id : 54062617828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these blood components do not have a nucleus?
Options :

1. # Plasma

2. ¥ Erythrocytes

3. % Platelets

4. ¥ Leucocytes

Question Number : 109 Question Id : 54062617828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
S0 3 {9 3ad U & S5 ol aldl 87
Options :

1. % TIIsHT

2. ¢ TRYNIISCH

3. % foray

4. % GPIRCH

Question Number : 110 Question Id : 54062617829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Coffee bean shape is characteristic of which of these bacteria?
Options :

1. ¥ Neisseria

2. # Cornybacteria

3. % Mycobacteria

4. ® Spirilla

Question Number : 110 Question Id : 54062617829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

HID! S BT 3MHR 399 § [y Sfiary o fawwar g2
Options :

1. ¢ S3aia

2. % HIfdae IR

3. % TZHIdaINal

4. % e

Question Number : 111 Question Id : 54062617830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

All the following are characteristics of stationary phase in cell growth except
Options :

1. # Cells are frequently gram variable

2. % Show irregular staining

3. # Sporulation occurs at this stage

4. ¥ Population decreased due to cell death

Question Number : 111 Question Id : 54062617830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
P! Bledr HyfaRad gyt HIReT g # fRR =R &t faivang g1
Options :
1. % HIRABY SR TH =R et &
2. % Sffafid it e &
3. % 3 TR R AU S+ 8iT 8
4.« DIBT AR G g5 S

Question Number : 112 Question Id : 54062617831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Branching filamentous bacteria are called
Options :

1. % Mycobacteria

2. ¥ Actinomycetes

3. % Neisseria

4. % Cornybacteria

Question Number : 112 Question Id : 54062617831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SifT ey Sadifean & G R GIES
Options :

1. % HIZchlade Al

2. ¢ THHRe

3. % AgafRar

4. % DI

Question Number : 113 Question Id : 54062617832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DPT or triple vaccine given to kids does not contain which one of these?
Options :

1. % Diphtheria toxiod

2. ¥ Mycobacterium

3. #® Pertussis vaccine

4. % tetanus toxoid

Question Number : 113 Question Id : 54062617832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S Y & ST arell DPT A1 ot IR # 378 @ B a1 Ry T dlan 22



Options :

1. % fSeifar claigs
2. ¢ AEHIdaIRTH
3. % TR dRiA

4. % feeTg cloIsS

Question Number : 114 Question Id : 54062617833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Scarlet fever is caused by which of these?
Options :

1. ¢ Streptococcus pyogenes

2. % Staphylococcus aureus

3. # Corynebacterium diphtheria

4. ® Clostridium difficile

Question Number : 114 Question Id : 54062617833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
THIcic ook 394 ¥ fahdds HIRUT Il 87
Options :

i —— -

1. ¢ LPIDHIHY URIISHY

2. % RhdlDlny RIY
3. % FIHaac gy ferfifar
4. % Farifegn fefomRa

Question Number : 115 Question Id : 54062617834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of these is not a Spirochete?
Options :



1. # Treponema
2. % Neisseria
3. # Borrelia

4. # Leptospira

Question Number : 115 Question Id : 54062617834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST 9 PH WIS 1ol 572

Options :

1. % guifmr

2. ¢ ARl

3. % gRfern

4. % PIEITST

Question Number : 116 Question Id : 54062617835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these are store houses of inflammatory mediators that are released during IgE mediated hypersensitivity reactions and responsible for
the associated inflammatory response and tissue injury?

Options :

1. # Neutrophils
2. % Basophils

3. # Eosinophils
4. ¥ Lymphocytes

Question Number : 116 Question Id : 54062617835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
70 Q4 S T MU TeaRi BT HSR T § Sl [gE Pt Hea™JdT dTelt stfasidexitaar ufafssarstt & SR okl 81d & iR Tafdra 2iveieh
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Options :



1. % gelfthd
2.« I d
3. % SAIhed
4. % RIpIAEC

Question Number : 117 Question Id : 54062617836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Presence of which of these is useful in diagnosis of congenital infections such as syphilis, rubella, HIV infection and toxoplasmosis?
Options :

1. ¥ IgM

2. % IgE

3. % IgD

4. % IgA

Question Number : 117 Question Id : 54062617836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=70 T forgen! IURRUTT SHeiTd TshHUT O o IUSW, T=adT, HIV JHHUT 3R CIRsHIRN & R § Iuanft 82
Options :

1. ¥ IgM

2. % IgE

3. % IgD

4. % IgA

Question Number : 118 Question Id : 54062617837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these is the major Immunoglobulin in colostrums, saliva and tears?
Options :

1. % IgM



2. % IgE
3. % IgD
4. ¥ IgA

Question Number : 118 Question Id : 54062617837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # IgM

2. % IgE

3. ¥ IgD

4. ¥ IgA

Question Number : 119 Question Id : 54062617838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Indirect Antiglobulin Test (IAT) is used to

Options :

1. ¢ detect presence of IgG antibody in serum (in vitro sensitization)
2. % detect in vivo antibody sensitization of RBCs

3. # detect in vivo antibody sensitization of WBCs

4. ® detect presence of IgA antibody in serum (in vitro sensitization)

Question Number : 119 Question Id : 54062617838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FISTREE TENAISgfer 3% &1 ST & for far srar g

Options :
1. ¢ IRA T 1G Ufaftie o IufUfa &1 gdt T (faet dadiaro)
2. % RBCs & fa) gfaftis Hadiem=ur & gdl &



3. % WBCs & faal ufaftis Tadieur § udr arTn
4. % IR H 1A Ufaftis &) U 1 udn o (F3e) Tadianm)

Question Number : 120 Question Id : 54062617839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Antiglobulin test is used to detect
Options :

1. #® Neutrophils

2. ¥ Macrophages

3. % Incomplete RH antibodies

4. % Platelets

Question Number : 120 Question Id : 54062617839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ao ¢ &1 SUA & fore faar ST B |
Options :

1. % gcifthd

2. % GEHEIBIY] (HehThITH)

3. ¢ 3quf RH TS

4. % fQTay]
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Question Number : 121 Question Id : 54062617840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The stool samples containing the ova and cysts of parasites can be preserved by using one of the following methods except
Options :

1. # 10% formol saline

2. ¥ Potassium Chloride

3. # Polyvinyl alcohol (PVA)

4. % Merthiolate-1odine formalin

Question Number : 121 Question Id : 54062617840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 10% HIAS JAgT

2. ¢ OQIROH dARISS

3. % UTcfa-TSd 3ehIgd (PVA)
4. % TRRYSMC-MNSH BrHfeH

Question Number : 122 Question Id : 54062617841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The life cycle of plasmodium is spent in which two hosts?
Options :

1. ¥ Human and pig

2. # Pig and anopheles mosquito

3. % Human and anopheles mosquito

4. % Anopheles mosquito and Sheep

Question Number : 122 Question Id : 54062617841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RS 1 Sfa aep 3 &1 ol o et gl 82
Options :

1. % T4 3R g3R

2. % F3R 3R ANl TR

3. ¢ A 3R TAIfthel e HR

4. % TAIOhaISl AR 3R U8

Question Number : 123 Question Id : 54062617842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of these is to be collected from all patients with clinical features compatible with measles?
Options :



1. ¥ Throat swab specimen
2. # Throat swab specimen and a blood specimen
3. # Blood specimen

4. # Urine Specimen

Question Number : 123 Question Id : 54062617842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

0 I DI TR & SIHA el [aRrarsi ara gt A I v forar o g2
Options :

1. ¢ &6 WIgl THAT

2. % &3 TTET BT THAT 3R Xad BT A

3. ® X pT THAT

4. % HF AqHA

Question Number : 124 Question Id : 54062617843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The virion consists essentially of a nucleic acid surrounded by a protein coat, called
Options :

1. # Pellet

2. # Troche

3. % Capsaicin

4. ¥ Capsid

Question Number : 124 Question Id : 54062617843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Odle



2. % T/
3. % SARM
4. ¢ SRS

Question Number : 125 Question Id : 54062617844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these is NOT a high-level indicator of Animal welfare?
Options :

1. # Appearance

2. # Quality of experimental results

3. ¥ Environment within the enclosure

4. % Body functions

Question Number : 125 Question Id : 54062617844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

290 q DI U HT0 BT IA-WRT Gbdd el &7
Options :

1. % Juffd

2. % TN YR &1 Jora

3. ¢ 3MAF & HiaR &1 TiaRor

4. % IRR & B

Question Number : 126 Question Id : 54062617845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these is NOT a benefit of Positive Reinforcement Training (PRT) of animals?
Options :

1. ® Benefits animal welfare

2. % Minimizes physiological changes in animals



3. # Reduce the number of animals required for the research

4. ¥ Increases the variability in experimental data

Question Number : 126 Question Id : 54062617845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % TTYH U HedTo

2. % SR # IR uRkad & HH Bl 8

3. % 3FIHYM o foIT TaRgdh U3 Bl G- HH Bl

4. ¢ TONTTASD Sl H gRad-=fied g s

Question Number : 127 Question Id : 54062617846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these is a lab based supplementary test for the diagnosis of TB in cattle?
Options :

1. # The interferon beta blood test

2. ¥ The interferon gamma blood test

3. # The interferon alpha blood test

4. ® The interferon delta blood test

Question Number : 127 Question Id : 54062617846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T8 ¥ I T AR § TB & e o fog TaIT=ITem semd TRe URI&n g2
Options :

]. % SR dieT Yad TRI&T

2. ¢ STIBGRI TTHT I TRIE0T

3. % BRI 3(eh] T URIEM0T




4, % STIBRI-T Secl Iad TRIefr

Question Number : 128 Question Id : 54062617847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The average life span of RBCis .
Options :

1. % 100-120 hrs

2. % 100-120 days

3. % 80-100 hrs

4. ® 80-100 days

Question Number : 128 Question Id : 54062617847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RBC T 3 Sita &Td Bl gl
Options :

1. % 100-120 °9¢

2.+ 100-120 f&A

3. % 80-100 ©c

4. % 80-100 fe7

Question Number : 129 Question Id : 54062617848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of these is not a function of platelets?
Options :

1. # Playing a central role in normal hemostasis
2. % Playing a central role in thermo regulation
3. # forming a primary hemostatic plug.

4. % Adhering to subendothelial collagen



Question Number : 129 Question Id : 54062617848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % ARG YE (GHRSRN) H ddig YfHeT FuTIg g
2. ¢ ! faf e 5 dota YfHer AuTer g

3. % YA AR Wit S|

4. % gSAfed Bice 9 fergedr

Question Number : 130 Question Id : 54062617849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Structure of Haemoglobin in adults is represented by which of these?
Options :

1. ¥ a2p2

2. % a2y2

3. % 2v2

4. % 0202

Question Number : 130 Question Id : 54062617849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T ¥ fhash gR1 9a%n! § gHRalie &1 Oa-1 UG RId gl 52
Options :

1. ¥ a2B2

2. % a2y2

3. % 2y2

4. % 0202



Question Number : 131 Question Id : 54062617850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these is not used for the estimation of haemoglobin based on development of color?
Options :

1. # Cyanmethemoglobin method

2. # Alkaline hematin method

3. # Oxyhemoglobin method

4. ¥ Rapid assay method

Question Number : 131 Question Id : 54062617850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % GRFHYHNANSH fafd

2. % &Y gHfe fafy

3. % SfefigTHRenfar fafd

4. ¢ AVS T Y

Question Number : 132 Question Id : 54062617851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Purple capped Vacuum tubes have which of these as an Anticoagulant?
Options :

1. # Sodium citrate

2. ¥ EDTA

3. % Sodium chloride

4. % Fluoride

Question Number : 132 Question Id : 54062617851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

gdd Pts fafd et # 370 § I TP rdic & U H gid1 82
Options :

1. % Gifsgw Argee

2. ¥ EDTA

3. % ISTH RIRGS

4. % TIRTSS

Question Number : 133 Question Id : 54062617852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these tests is associated with Diabetes Mellitus?
Options :

1. # Cholesterol

2. % Hb Alc

3. ® Troponin

4. % Calcitonin

Question Number : 133 Question Id : 54062617852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % HlRkeld

2. ¥ Hb Alc

3. % QO

~

4. % oAt

Question Number : 134 Question Id : 54062617853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Mean corpuscular volume (MCV) is the
Options :

1. # calculated measurement of the average amount of haemoglobin
2. % variation in the size of red blood cells
3. ¥ measurement of the average size of red blood cells

4. % total number of white blood cells

Question Number : 134 Question Id : 54062617853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIOTHT HIH A gl

Options :

1. % GRS BT 3Nd A &1 uResford AT
2. % Qe Yad PIRIBIS &b bR H fizrar

3. ¢ TTC Iad BITABISH & 3N SMHR BT A
4. % 4 Yad HIABISA DT FHl W&

Question Number : 135 Question Id : 54062617854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these terms implies uncontrolled proliferation of cells?
Options :

1. ¥ Neoplastic

2. ® Congenital

3. # Degenerative

4. ® Inflammatory

Question Number : 135 Question Id : 54062617854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



1. ¢ FOies

2. % SO (Boif-ied)
3. % 3(qerdt

4. % TRTED

Question Number : 136 Question Id : 54062617855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Programmed cell death is also knownas .
Options :

1. # Pneumoconiosis

2. # Anastomosis

3. % Apoptosis

4. % Osmosis

Question Number : 136 Question Id : 54062617855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SHHTGIRI HIfRIT AT B & EUH W S S g

Options :

1. % offer pupaf
2. % SERCIHIRY
3. ¢ TUILIR

4. % UERUT

Question Number : 137 Question Id : 54062617856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Xerophthalmia is the deficiency of which of these?
Options :

1. % Vitamin A



2. * Vitamin B
3. # Vitamin C
4. % Vitamin E

Question Number : 137 Question Id : 54062617856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BTSSRI 399 § e &l |2

Options :

1. ¢ faerfd= A
2. % fqaTfia B
3. % faerfd
4. % fqefA E

Question Number : 138 Question Id : 54062617857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SGPT and SGOT are enzymes found in which organ?
Options :

1. % Kidney

2. ¥ Liver

3. ¥ Muscles

4. % Heart

Question Number : 138 Question Id : 54062617857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SGPT 3R SGOT g 371 § Urw oI arel ufbug g2

Options :

1. ® Taf
2. ¥ T



3. % O
4. % gad

Question Number : 139 Question Id : 54062617858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these is not possible while examining bacteria under the compound microscope?
Options :

1. # Living state or fixed with staining

2. % Wet films

3. % Shape and size outline

4. ¥ Excellent contrast to examine detailed morphology

Question Number : 139 Question Id : 54062617858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Sifdd fawT AT HURSD b 1Y fRR

2. % Tiicil fthed

3. % JTHR 3R g B TR

4. ¢ fa%qd 3P lA-faM Bt S B & [T IPT dheRe

Question Number : 140 Question Id : 54062617859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Phase contrast microscope is based on which of these techniques?
Options :

1. # reflected light

2. ¥ refractive index

3. # electron beam



4. * neutron beam

Question Number : 140 Question Id : 54062617859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tt ety gera el 58 § by doeiie TR 3meid 89
Options :

1. % QR7Efdd GebT=1

2. ¢ UacHID

3. % AdaCH dH

4. % g EH
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Question Number : 141 Question Id : 54062617860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Platelets formed from cells in the bone marrow called as
Options :

1. # Myelocyte

2. # Leukocyte

3. ¥ Megakaryocytes

4. ¥ Mmyeloblast

Question Number : 141 Question Id : 54062617860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3Ry Tl § SIfRB18f § 97 arel forary b1 gl S g
Options :

1. ® HIZANEC

2. % gHIEC

3. ¥ WG ENTEe

4. % AAIKIRS

Question Number : 142 Question Id : 54062617861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these is not a Delayed Transfusion reaction?
Options :

1. ¥ Hyperkalemia



2. # Post transfusion purpura
3. % Immunomodulation

4. ¥ Pulmonary microembolisation

Question Number : 142 Question Id : 54062617861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
19 ¥ 3 fadifaa snum wfafsar 781 82
Options :

1. ¢ BIRIRG AT

2. % GIC AT JeAfrdl

3. % SRS

4, % UEHIR HIZeh ITRITCToT

Question Number : 143 Question Id : 54062617862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The primary food sources of which of these vitamin is milk and other dairy?
Options :

1. # Vitamin A

2. # Vitamin B

3. #® Vitamin C

4. ¢ Vitamin D

Question Number : 143 Question Id : 54062617862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S0 ¥ oy fqeTfiq o1 urufiies @ 9id g 3R o g Hf 82
Options :

1. % fqerie A

2. % {qe1fF B



3. % fgerfi=
4.+ QA D

Question Number : 144 Question Id : 54062617863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a polysaccharide which is present in the structural elements of plants.

Options :

1. # Sugar

2. % Starch

3. % Cellulose
4. # Fats

Question Number : 144 Question Id : 54062617863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FEHNT § Sl N & TS dedl B AG grar g |

Options :

1. % AR
2. % W
3. ¢ QA

4. % g4l

Question Number : 145 Question Id : 54062617864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Pathogenesis does not depend on which one of these?
Options :

1. # Immune status of host

2. # Nature of species

3. ¥ Number of pathogenic organisms in the initial exposure



4. ¥ Number of hosts in the initial exposure

Question Number : 145 Question Id : 54062617864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TSI (OToHTR) 378 9 forg TR AR 78 vt o2
Options :

1. % UV b Ufore Rufd

2. % YTl &l Upfd

3. % RN SIRIH H IS Sl bl YT

4. ¢ YRS U&= T Ui &) a1

Question Number : 146 Question Id : 54062617865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these is not a step involved in the pathogenesis of the bacteria?
Options :

1. ® Transmission

2. ® Colonisation

3. # Adhesion

4. ¥ Encapsulation

Question Number : 146 Question Id : 54062617865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S0 9 BIH SaTy] & AT (TSR o =MfHe =R0T 8 57
Options :

1. % BXIICRT

2. % JUMHGRE (SIAMTSOIRH)

3. % 3MISH

4. {-il:J‘,cnIObQUI (QrOPIb{ja-‘QH)




Question Number : 147 Question Id : 54062617866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these is not one of Koch's Postulates?

Options :

1. # The organism must always be found in humans with the infectious disease but not found in healthy ones.
2. # The organism isolated in pure culture must initiate disease when reinoculated into susceptible animals.
3. ¥ The organism should not be re-isolated from the experimentally infected animals.

4. ® The organism must be isolated from humans with the infectious disease and grown in pure culture.

Question Number : 147 Question Id : 54062617866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Sitd ORI YshTHb INT U T | TR ST Mg fobw WA Rl | =I5 Uil ST A1 |

2. % G TaY & e fohT 7T Sfia 1 faidgA=iTe SHaR! & G RITUT 814 IR A L BT A6 T
3. ¢ Sl B TS &Y I YehiHd STHaR! § fihr T 3/eT a1 fopdT ST a1y |

4. % S1q DI YehTHE INT IR AT I T fordT ST A1 T 3R Y& Heek H gfg H1 ST AR T |

Question Number : 148 Question Id : 54062617867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of these is a compound Fixative?

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. Zenker's fluid

2. Formal Saline

3. Formal Calcium



4. Picric Acid

Question Number : 148 Question Id : 54062617867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T8 I HH A fraRifea 39
Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :

1. Y &d

2. A JarH
3. BIAd oicad
4. Tofcheh arvet

Question Number : 149 Question Id : 54062617868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The process by which the specimens are inspected with bare eyes to obtain diagnostic information is called
Options :

1. # Embedding

2. ¥ Grossing

3. # Labelling

4. % Section cutting

Question Number : 149 Question Id : 54062617868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % TS




2.« TR
3. % Qi
4. ® I HIT

Question Number : 150 Question Id : 54062617869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these stimulates incorporation of calcium in bone?
Options :

1. # Creatitine

2. % Haemoglobin

3. % Calcitonin

4. # Niacin

Question Number : 150 Question Id : 54062617869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % foufef

2. % gIHRCeA

3. ¢ B

4. % YR

Question Number : 151 Question Id : 54062617870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Bilirubin is a byproduct of the normal breakdown of

Options :
1. * bile
2. % red blood cells



3. ¥ creatine

4. ® sugar

Question Number : 151 Question Id : 54062617870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IERIRICE P A HIT BT TB-3UTG ¢ |
Options :

1. % foq

2. ¢ WA TaKd DIRIBT

3. % fopufed

4. % QB

Question Number : 152 Question Id : 54062617871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The mass of a substance especially in grams is chemically equivalent to

Options :

1. # eight grams of hydrogen or one gram of oxygen
2. # eight grams of oxygen or one gram of sodium
3. ¥ eight grams of oxygen or one gram of hydrogen

4. ® eight grams of carbon or one gram of hydrogen

Question Number : 152 Question Id : 54062617871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foralt uered @1 gooH favy U I 9w § IR T u 9 & WER BT g |
Options :

1. % 316 UMY BIEgIoH g1 Uh U HTRitor

2. % 318 UMY IS a1 Uh U Hifeqd

3. ¢ 318 UTH RIS g1 Teh U IS IS




4. % 316 UTH DT T Tb TTH BTG ol

Question Number : 153 Question Id : 54062617872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Minimum Inhibitory Concentration refers to
Options :

1. ¥ lowest concentration of an antibiotic that will inhibit the growth of a bacterial strain.
2. % Jowest concentration of the antibiotic that will kill a bacterial strain.
3. ® Jowest concentration of the antibiotic that will kill a viral strain.

4. ® breakpoint concentration of the antibiotic

Question Number : 153 Question Id : 54062617872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafmm i deeem ! Heffd P 5|
Options :

1. ¢ Ufaoifae & G &H AigdT o SiaT] ¢ & fqH & b i |
2. % JAifdd &1 Gad HH Figdl ol U SiaTy] I &l AR |

3. % JfAGfde & Ta HH Tigdl o arRd WA &1 AR 4t

4. % Yiifde o1 WiTfdg ThTral

Question Number : 154 Question Id : 54062617873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mycobacterial infection. Eg. Tuberculosis, leprosy is detected by which of these?
Options :

1. # Albert staining

2. # Negative Staining

3. # Gram Staining

4. ¥ Acid fast stain



Question Number : 154 Question Id : 54062617873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AEHIaaCIRId YHHUT | I&TeR0T G&HT, HERT &1 Udl 3940 [ gRT A STl §
Options :

1. % 3feac RIS

2. % BUTHD RSP
3. % Y RS

4. ¢ 3 WL RS

Question Number : 155 Question Id : 54062617874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An estrogen test is a way for your doctor to help check on concerns with all of these other than
Options :

1. # puberty

2. ¥ arthritis

3. # fertility

4. ¥ menopause

Question Number : 155 Question Id : 54062617874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS URIEMUT 3 fefdreqa o forg & ST 39 Tt Riarsii &1 o A H Hag HRA BT adbl |
Options :

1. % JgIRY

2. ¢ Gy Y

3. % ST (Wit

4. % JogR




Question Number : 156 Question Id : 54062617875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man might have an estrogen test to check all of the following except?

Options :

1. # Check if puberty is delayed

2. # Diagnose enlarged male breasts

3. # Find if high estrogen levels are due to low levels of testosterone or androgen

4. ¥ to check for abrupt mood swings

Question Number : 156 Question Id : 54062617875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed o @ Tt ot g & o ue s} &1 Teio e 1 9ol 7, Rar
Options :

1. % S b o diaaRed B S 81 e B

2. % §¢ gU YN WAl &1 HgH

3. % AT TITY o I TR IO o1 TR SR ReR | 1 YUSIoH & Y TR & BRI §
4. ¢ 3AMD FSl H IAR-IGId B o B & [o1d

Question Number : 157 Question Id : 54062617876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of these is not a kind of Pacemaker?
Options :

1. # Single-chamber pacemaker

2. ¥ Mitral Pacemaker

3. % Biventricular pacemaker

4. ® Dual-chamber pacemaker

Question Number : 157 Question Id : 54062617876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
0 Y HH TITRS BT IR a1 32
Options :

1. % RETS-doR UgHBR

2. ¢ OI3cd UTqHER

3. % foafeager o9HeR

4. % STA-ITR TIHHR

Question Number : 158 Question Id : 54062617877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Possible risks of cardiac pacemaker do not include which of these?
Options :

1. % Infection

2. % Blood Clot

3. # Air Leak

4. ¥ Irregular heart beat

Question Number : 158 Question Id : 54062617877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH A B AT g5 ARG o SHIAd S & i gl 62
Options :

1. % HpHUT

2. % Yqd Whad

3. % gar Rama

4. ¢ AfFARTGTA R

Question Number : 159 Question Id : 54062617878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



All strains grow in presence of 6.5% NaCl and are bile-aesculin test positive of which of these bacteria?
Options :

1. % Neisseria

2. # Cornybacteria

3. ¥ Mycobacteria

4. % Enterococci

Question Number : 159 Question Id : 54062617878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tt T 6.5% NaCl BT U T 9fg T & IR T8 I [h 9 9a1RaT BT ISA-THT[AH e THRIAD 62
Options :

1. % ARl

2. % DI

3. % HESHIaaINAT

4. ¥ TeRDIb!

Question Number : 160 Question Id : 54062617879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Lophotrichous bacteria have which of these?
Options :

1. ¥ a tuft of flagella on one side

2. # single or tuft on both sides

3. % surrounded by lateral flagella

4. # single flagella on one side

Question Number : 160 Question Id : 54062617879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
0 U S T ABICIHY daiiar H uram Sl g2

Options :



1. ¢ Toh TR HRIMHBT bl T[]
2. % G R Th T BT

3. % Ursf FHRMYeeT I forT g
4. % Toh RWB Uhd HRMHBI
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Question Number : 161 Question Id : 54062617880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Bacteria which show grape like cluster arrangement are termed as
Options :

1. ¥ Staphylococci

2. # Streptococci

3. # Sarcina

4. # Diplococci

Question Number : 161 Question Id : 54062617880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR SRfY guE RN oM ard Sam & el T B |
Options :

1. ¢ Whdlblpt

2. % LPIDIDI

3. % WfbT1

4. % fSwlpID!

Question Number : 162 Question Id : 54062617881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Doctors use chest X-ray to do all of these other than
Options :

1. # Look at chest bones, heart, and lungs

2. % Check on any catheters and chest tubes

3. ¥ Check heartbeat

4. # Check if pacemaker, defibrillator, or other heart devices are in place

Question Number : 162 Question Id : 54062617881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % BT B UL, ST 3R e bl o

2. % ) oft FAex IR BTk >t Al Ht Sire B

3. ¥ B&g R Wi

4. % S} fop T TIfOR e, TEwhTSfercieR, AT 3170 g SUSHRUI OWIE H &

Question Number : 163 Question Id : 54062617882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An X-ray is the most common first test for lung problems. It can identify all of these other than
Options :

1. ¥ Pulmonary embolism

2. # Air or fluid in the chest, fluid in the lung

3. % Pneumonia

4. ® Lesions

Question Number : 163 Question Id : 54062617882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Bhsl Bt THEIT3 P T Tog-fH~0 o A= Ugdl U1l g1 I8 & 3fATaT 371 I+ BT UgaH IR Ihd1 g
Options :

1. ¢ DU 3=l

2. % BIA A ga1 a1 R Uerd, el & v e
3. % A

4. % 919 (QI)

Question Number : 164 Question Id : 54062617883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of these is not detected by X-Ray?



Options :

1. # Arthritis

2. # Fractures and infections
3. % Dental decay

4. ¥ Arrhythmia

Question Number : 164 Question Id : 54062617883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g8 3 forgent dT Tag-fasRon gRT =18t vt ST 82
Options :

1. % iy

2. % YT 3R FhHT

3. % Gd &Rl

4. {ATeTar (TRYTHA)

Question Number : 165 Question Id : 54062617884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The is the long bone between the shoulder and the elbow.
Options :

1. ¥ humerus

2. # radius

3. % ulna

4. # scaphoid

Question Number : 165 Question Id : 54062617884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
%Y 3R el & ord B dal Y

Options :




1. ¢ TSI

2. % e

3. % $gl HIgSl (S
4. % THIHIZS

Question Number : 166 Question Id : 54062617885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these is not classified as genitalia and external reproductive structures?
Options :

1. # Penis

2. % Mammary glands

3. % Vulva

4. # (litoris

Question Number : 166 Question Id : 54062617885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

20 Y frd ST SR STt UoTH+ W13l & U § arffepd e forar mar g2
Options :

1. % fRry

2. ¢ I U

3. % i

4. % YIIRIIHRT

Question Number : 167 Question Id : 54062617886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The flesh that hangs in the back of your throat and helps to swallow and speak is called
Options :

1. % Urethra



2. ® Ureter
3.4 Uvula
4. % Ulna

Question Number : 167 Question Id : 54062617886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g T SN 3T T & sl el & e & oiR e ok i & Heg el &, 39 RIS
Options :

1. % R

2. % TRHAe! (AXER)

3. ¢ SISTRT (ggen)

4. % Pl DI TSl (S

Question Number : 168 Question Id : 54062617887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of these is the inner layer of the kidney?
Options :

1. ¥ Medulla

2. # Renal Cortex

3. # Gonads

4. ¥ Thorax

Question Number : 168 Question Id : 54062617887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
70 A I T[S B TR TR 22
Options :

1. & TSI (Fgem)

2. #® dddh SId



3. % ‘il'_‘IIS
4. % g8y

Question Number : 169 Question Id : 54062617888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Steps of biomedical waste management include all of these other than

Options :

1. # segregation

2. # storage and transport
3. % generation

4. % disposal

Question Number : 169 Question Id : 54062617888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g ffdream Srufry Ueie % wRon & & ararar o= gt =fie B
Options :

1. % JUNIRE

2. % USRI 3R yRag

3. ¢ SFRYH

4. % AueH

Question Number : 170 Question Id : 54062617889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The colour of the bag used to throw Chemical waste and Incineration ash is
Options :

1. ¥ Black

2. % pink

3. ¥ green



4. % blue

Question Number : 170 Question Id : 54062617889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS SHARTE SR HEHIDIUI IRG B T b 1T JuINT T STt A BT 77 &l
Options :

1. ¢ DIl

2. % T[crel

3. % g

4. % el

Question Number : 171 Question Id : 54062617890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these is not an aspect of Safe Handling of Blood/Body Fluid Spills?

Options :

1. ® Cover spills of infected or potentially infected material on the floor with paper towel/ blotting paper/ newspaper.
2. % Pour 1% sodium hypochlorite solution on and around the spill area and cover with paper for at least 30 minutes.
3. ¥ Pour 1% sodium chloride solution on and around the spill area and cover with paper for at least 30 minutes.

4. ® Use gloves to pick up the news paper etc which is in contact with the spill

Question Number : 171 Question Id : 54062617890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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2. % TADB & W 3R ITYb MU 1% ST gIRUIGARTSE UId ITa 3R HH I &4 30 e & fole s 9 @b S|
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Question Number : 172 Question Id : 54062617891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Untreated Bio medical waste should not be stored beyond ~ hrs.
Options :

1. % 24

2.9 48

3. % 72

4. % 96

Question Number : 172 Question Id : 54062617891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AIRd via afhan Ry & ©e J 3ifie IHy a% JURId el fbal o a1y |
Options :

1. % 24

2.9 48

3. % 72

4. % 96

Question Number : 173 Question Id : 54062617892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these is expressed as the concentration expressed as the number equivalent weights (equivalents) of solute per liter of solution?
Options :

1. # Molarity

2. % Normality

3. #* Molality

4. # Percentage

Question Number : 173 Question Id : 54062617892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

270 ¥ frd U ofiex faeraa & fad & Trde YR (FHde) & &0 H oJad &1 T3 Tigdl & ¥U § Sdd a1 Sirar g2
Options :

1. % HieRdl

2.« T

3. % Hidferct

4. % yf=ra

Question Number : 174 Question Id : 54062617893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Valance could be determined as all of these other than
Options :

1. # The absolute value of change in charge on a species when undergoing a
chemical reaction.

2. ® The number of H+ or OH- that a species can react with
3. % The number of neutrons and protons

4. ® The absolute value of ion charge

Question Number : 174 Question Id : 54062617893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

CRE| & 3farar 34 9+ & =0 & Ruffd ot s awdt 81

Options :

1. % IS AT § oA R ford! Feffa IR TR aRad- &1 guf g4 |
2. % H+ 97 OH- &1 T S a1y ueifa ufaferar #1 9t 8

3. ¢ G2 3R Uie & Wem

4. % T 3M1A HT AU A

Question Number : 175 Question Id : 54062617894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The use of which of these is limited mainly to the evaluation of hepatocellular disorders and skeletal muscle involvement?
Options :

1. ¥ Aspartate aminotransferase (AST)

2. # a-Amylase

3. # Alanine aminotransferase (ALT)

4. # Lipase

Question Number : 175 Question Id : 54062617894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g7 1 fh T ST G- ¥ ¥ THde 1S 1 (UCAR) [ABR] 3R dabid o1 U &1 UFfieRT & Jedie ab Jiad 8?2
Options :

1. ¥ TWCC AR

2. % a—Qﬁl@lﬁ

3. % T UG S

4. % U

Question Number : 176 Question Id : 54062617895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these do not belong to the vitamin B-complex group?
Options :

1. # Niacin

2. # Riboflavin

3. % Folate

4. ¥ Ascorbate

Question Number : 176 Question Id : 54062617895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 9rEaiRE

2. % REgifaq

3. % Bl

4./ TEHISC

Question Number : 177 Question Id : 54062617896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a large projection of bone on the back of the elbow. It is a part of the ulna bone and makes the point of the elbow.
Options :
1. % Coronoid Process
2. % Medial Epicondyle
3. # Lateral Epicondyle
4. ¥ QOlecranon

Question Number : 177 Question Id : 54062617896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % PSS U

2. % Hifsgd tliaprega
3. % doXd UUsmlsRd
4. ¢ 3fiferehAt

Question Number : 178 Question Id : 54062617897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of these is a chronic (long-term) disorder, causing inflammation in the airways that can make breathing difficult?



Options :

1. ¥ Asthma
2. # Fever
3. % Pertusis
4. # Angina

Question Number : 178 Question Id : 54062617897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ cHl

2. % gUR
3. % UeRM
4. % 3q:[d

Question Number : 179 Question Id : 54062617898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tissue flap at the entrance to the trachea that closes when you swallow to keep food and liquids out of your airway is called
Options :

1. ¥ Epiglottis

2. % Cilia

3. #® Larynx

4. % Bronchioles

Question Number : 179 Question Id : 54062617898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :




1. ¥ Hodq
2. % fyferan
3. % WA
4. % Fifpc

Question Number : 180 Question Id : 54062617899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of these systems produces gametes?
Options :

1. # Nervous system

2. ¥ Reproductive System

3. % Respiratory Systems

4. ¥ Musculoskeletal systems

Question Number : 180 Question Id : 54062617899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

70 A B I yunel THe IaF B 82
Options :

1. % gf~aepT oA

2. ¥ U dF

3. % 4 dd

4. % URMhopTal o
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Question Number : 181 Question Id : 54062617900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Urine is expelled through the out of the body.
Options :

1. ¥ Urethra

2. % Ureter

3. ® Uvula

4. % Ulna

Question Number : 181 Question Id : 54062617900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



HWH gRITRR & aiex e e e 2
Options :

1. ¢ A

2. % TG (IR

3. % 3fferfoTgl (gda)

4. % Pl B B (S

Question Number : 182 Question Id : 54062617901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these terms refers to low levels of Blood Oxygen?
Options :

1. # Necrosis

2. % Gangrene

3. ¥ Hypoxia

4. % Alopecia

Question Number : 182 Question Id : 54062617901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. * gRaTe

2. % BIY

3. ¥ gIsuIfeRTl

4, % TSI

Question Number : 183 Question Id : 54062617902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Hormone which is not suppressed by pituitary is



Options :

1. ® GnRH gonadotropin releasing hormone
2. #® FSH follicle stimulating hormone

3. # LH luteinizing hormone

4. ¥ Calcitonin Hormone

Question Number : 183 Question Id : 54062617902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # GnRH THrSICIUA RefifSiT g

2. % FSH ®U S1oId gTHH (BIddd RegaeT gra)
3. % LH gfegfoiT g

4. SN gMH

Question Number : 184 Question Id : 54062617903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these component of blood pressure results from ventricular contraction of the heart?
Options :

1. # Arterial Pressure

2. # Diastolic Pressure

3. # Pulse Pressure

4. ¥ Systolic Pressure

Question Number : 184 Question Id : 54062617903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2T T XFqATd BT S I 9eh gad & Had YGad o TRUIMHERY gidl 82
Options :




1. % §ul qId
2. % 3pa ald
3. % 1S a1
4. ¥ UHaI qd

Question Number : 185 Question Id : 54062617904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the study of microorganisms used in pharmaceutical products, such as vaccines and antibiotics.

Options :

1. ¥ Pharmaceutical microbiology
2. % Medical microbiology

3. % Food microbiology

4. % Agricultural microbiology

Question Number : 185 Question Id : 54062617904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
R (wrHfewa) SdTal & JudT forT S arel gesial BT 3769 §, i fs s iR wfaeifaes |
Options :
1. ¢ 3Ty (prHigfeswa) gersifae!
2. % fafra (Afswa) g
3. % T gEAdaD!
4. % Y gerAQIaD!

Question Number : 186 Question Id : 54062617905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Phycology is the study of which of these?
Options :

1. ¥ Algae



2. # Fungi
3. #* Protozoa
4. % Nematodes

Question Number : 186 Question Id : 54062617905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
QaTafaFH, 39 ¥l sierd- 82
Options :

1. ¢ Rard

2. % dddh

3. % JSitaeTor

4. % APH

Question Number : 187 Question Id : 54062617906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The study of Fungi such as yeasts and molds is called

Options :

1. % Phycology
2. # Protozoology
3. % Mycology

4. ® Parasitology

Question Number : 187 Question Id : 54062617906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HaD ol WHR 3R HIts & 3T Pl EHEIGI
Options :

1. % Rarafae

2. % SfTfeeTgfasT



3. ¢ Had fagH
4. % TRoNG! fage

Question Number : 188 Question Id : 54062617907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Astromicrobiology is the study of
Options :

1. # evolution of microorganisms.
2. ¥ origin of life on Earth, and the search for extraterrestrial life.
3. ¥ mathematical/computational modeling of the activities of microbiological systems.

4. ® microorganisms responsible for human disease.

Question Number : 188 Question Id : 54062617907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T G&H oiid o (iAo BT LT B
Options :

1. % JeAoial ol ha-fdem|

2. ¢ P IR S1a- B I, 3R TRUE! Siia= &1 Wiol|

3. % geaifae! yonfer ot fafafda &1 i /sreeeEa Arsfi|
4. % OHJ INT & oY TR gereal

Question Number : 189 Question Id : 54062617908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

XLD Agar is characteristic by the addition of which of these?
Options :

1. ¥ Yeast extract

2. % Blood

3. ® Lactose



4. % Antibiotics

Question Number : 189 Question Id : 54062617908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

XLD TR 390 ¥ f5ae SIS oF &1 faxivar g2
Options :

1. ¥ GHR IGI00

2. % Ydd

3. % daer

4. % geroifad

Question Number : 190 Question Id : 54062617909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these contains lactose and an indicator system that identifies lactose-fermenting coliforms?
Options :

1. # Blood agar

2. % Nutrient Agar

3. ¥ MacConkey agar

4. % Chocolate Agar

Question Number : 190 Question Id : 54062617909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S0 ¥ fad diaeie 3R dhad JUITel! 8id! § SNl Alaeiol-[h UG BICthiH &1 UgdT i 87
Options :

1. % T8 WIR

2. % PG TR

3. ¢ UPHDID! TR

4. % Jldhelc VIR




Question Number : 191 Question Id : 54062617910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following precautions need not to be taken into consideration when the culture methods are processed?
Options :

1. % Optimal atmospheric conditions

2. % Optimal temperature

3. ® Growth requirement of the bacteria

4. ¥ Disease caused by the bacteria

Question Number : 191 Question Id : 54062617910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

atf fafert o Safid Hd gaa Ffied 3§ 3 oF I Sl o em o 98t @1 o 1 T
Options :

1. % gyqy drgHeary fufaai

2. % QUJH dIUHME

3. % Sfiaruef & gia I

4. ¢ SAT0] & HRUI G dTeil STHRT

Question Number : 192 Question Id : 54062617911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these is not characteristic of liquid Broth culture?
Options :

1. # Easy to detect due to turbidity

2. # Faster growth

3. % Higher sensitivity

4. % Prone to contamination

Question Number : 192 Question Id : 54062617911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

T8 ¥ B fiP e Y Pk o) fadwdr 78t 82
Options :

1. % TATIT P HROT U] T ST

2. % O [de™g

3. % I GdeIidd]

4. GO BT R

Question Number : 193 Question Id : 54062617912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Amniocentesis refers to
Options :

1. ¥ the surgical insertion of a hollow needle through the abdominal wall and into the uterus of a pregnant female and the aspiration of fluid
from the amniotic sac for analysis

2. ® procedure aimed at determining whether a woman is pregnant.
3. % Test for venereal diseases

4. ® 3 long, flexible tube (colonoscope) is inserted into the rectum.

Question Number : 193 Question Id : 54062617912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Jedae (THAARERRM) o) Yeftfd BT 3|

Options :

1. ¢ I FURT & H1egd § SR Tact Afgen & Myl & WRadl g8 &1 Aaaidih s THIARM 3R faeyor & g wH-teifes I%
R UeTd BT gyl

2. % Higar mHad g a1 7g) g8 Muiid o & Iexa 3 ufsan|

3. % RN & forw wemr

4. % TH dl, T e (FeeHeR) B TR § ST SiTdl |



Question Number : 194 Question Id : 54062617913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1s a noninvasive device that estimates the amount of oxygen in your blood.

Options :

1. * Ophthalmoscope
2. ¥ Pulse oximeter
3. * Insulin pump

4. % Nebuliser

Question Number : 194 Question Id : 54062617913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
R-3ATHTHG IUHRUT § SN AT Iad | RIS Bt W BT STHH Tar g |
Options :
1. % FAUCAGRA
2. ¢ U SR
3. % iUy
4. % JGAISOR

Question Number : 195 Question Id : 54062617914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these is not part of an ECG Electro cardio gram test result?
Options :

1. % P wave

2. % QRS complex

3. % T wave

4. ¥ C wave

Question Number : 195 Question Id : 54062617914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

T8 ¥ B AT ECG Saide] Hriad! UM TRI&T URUE &1 5w 81 82
Options :

1. % PRI

2. ® QRS HIFIFT

3. % T

4. ¢ C AW

Question Number : 196 Question Id : 54062617915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these tests involves a long, flexible tubes inserted into the rectum and a tiny video camera at the tip of the tube .
Options :

1. # Electro cardio gram

2. ¥ Colonoscopy

3. # Catheterization

4. ¥ Biopsy

Question Number : 196 Question Id : 54062617915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # gqide! BIfsa UH

2. ¢ §egHAaRH

3. % HYANSAI

4. % FdPb UL

Question Number : 197 Question Id : 54062617916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of these devices is used to measure blood pressure?
Options :

1. ¥ sphygmomanometer

2. # thermometer

3. # infusion pump

4. % catheter

Question Number : 197 Question Id : 54062617916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T ¥ ¥ IUSBRU BT JUTIT X<y HIYA o forg fasam vt g2
Options :

1. ¢ AT

2. % dgHH

3. % SRS g

4. % YR

Question Number : 198 Question Id : 54062617917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these is the correct formula to calculate Molarity?

Options :

1. ¥ Number or moles of solute ~ Volume of Solution in litre

2. % Number of gram equivalents of solute +~ Volume of solution in liter
3. % Equivalent weight -+ valency

4. ¥ Number of gram equivalents of solute + valency

Question Number : 198 Question Id : 54062617917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T8 I DI 91 P HIeRdl $1 0T & e T8t 82

Options :



1. ¢ 30T &1 TB a1 919 -+ Tiiex H faaa= &1 3maaH

2. % {301 o TTH GHGE D! TBAT = dilex H faag &1 siadd
3. % JAJA YR + ArSTehd

4. % oo o UM qHGE B AT -+ FAISThd]

Question Number : 199 Question Id : 54062617918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of these is not a Primary Standard?
Options :

1. ¥ Potassium dichromate (K,Cr,0-)

2. #® Sodium oxalate (NayC,0y4)

3. ¢ Potassium permanganate (KMnOy)

4. # Potassium Hydrogen phthalate (KHP): (KHCgH4O,)

Question Number : 199 Question Id : 54062617918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % GICIREH SEhIHT (K,Cry0-)

2. # TIfSTH SHRITAC (NayC,0,)

3. ¢ TICRH AT (KMnO,)

4. % UICRIA BIESISH BYAT (KHP): (KHCgH,40,)

Question Number : 200 Question Id : 54062617919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Position of eye while reading, the level must be
Options :



1. # higher than the meniscus plane
2. # Jower than the meniscus plane
3. ¥ at the same level as the meniscus

4. ® atleast 1cm lower than the meniscus plane

Question Number : 200 Question Id : 54062617919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Y @ 3d

2. % HAHY w9+

3. ¢ BFRHY & THH

4. % OfHY g Y FAdH lom #ild




